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 12

    ?  

 : 

    : «    -

    ,      -

 ,    – »; 

    , , -

 H0  ,  «    X    -

       »,  H0: X = ,  

   H1: X ; 

      ;  

   , , ,   . .; 

  (  )  ' , ,  -

    ,    ; 

      ; 

        -

, , ; 

      ; 

        ; 

     -    

 ; 

         -

      ;  

   . 

,     ,  -

      : 

–   ’     -  

,     , , ; 

–        -

     , , -



 13

    ; 

–        -

  . 

         

.       -

.        -

      ,    

       . 

,       -

     –  –  ,  

   ,  ’  . , -

  ,  ,  . ,  -

  ,  ,   . .,  -

 «  »   -  . « -

»  -  ,     , 

     .  

 ,        

 ,     ,    -

       -

       -

.        , 

’     , ,  -

 ,      . .     -

  ,      -

  ,   ,    . , 

,  ,   ,   

     «  »,   

 . 

 ,      -

  :  ,      (  



 14

 )  ,     (   -

 ). ,  ,    , -

   ;   ( -

)    ( )  . . ,  -

  ,  ,  .  -

   , , ,    

    ,  -

           -

     .  

 

. . 

1.     .  

2.       ? 

3.      . 

4.      .  

5.      . 

6.        -

?  . 

7.  ’      . 

 



 15

2.    
 

 ,    ,  
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–   ( , , -

),     ; 

–   (     ), 

      ; 

–  -   (  , -

),      ’   -

 ,    .   

 

2.1.    

     

 ,      -

 ' ,      :   

  (  ),     

( ),     4. 

 2.1.     -

   : 3, 4, 4, 4, 3, 2, 4, 4, 5, 1 (   n = 10) . 

 :  

 ,       -

  5 ,    ;  

       : x1 = 3,  x2 = 4, …,  x10 = 1; 

    (xj)      . 2.1; 

   (xj
* )       -

                                                           
4       : «  », « -

  », «   », «   
»  .    

5 ,  ’   ,   -
,     . 
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 . 2.1; 

   (xi)    (mi)     

 . 2.1. 

 2.1 

      ( ) 

      
j xj xj

* xi mi 
1 3 1 1 1 
2 4 2 2 1 
3 4 3 
4 4 3 

          3 2 

5 3 4 
6 2 4 
7 4 4 
8 4 4 
9 5 4 

          4 5 

10 1 5 5 1 
 

 ,   –     (   

)      (  . 2.1 -

 xj
*).         -

 :   (xi),       ,  

    (mi),     -

.        -

 , ,   .    -

          -

  .  

  –    '    

    X,    -

,    . ,   xi (  X)  -

 mi (  )  . 2.1     -

,      (fi)   (xi) , 

  fi ~ xi. ,   «  » f( )   
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 fi –  ,     xi. 
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 : ,    ( . 2.1).  
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)    x   X. 

   –   '  mi   

 xi  X (    ). 
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  mi    n ’ ,   fi = mi /n.  

  ( « »  « »)   

   .    -

  ,     x   X. 

   
j

i
im

1
 –    -

    1-   j-  . 

   
j

i
ij fF

1
 –    -

    1-   j-  . 

         

 :  

    –  ,  ;  

    –   ,    -

.  

         

   7.      -

    .    

         -

;    –   (  )  . 

 

  

     ,  

          

,  ,     .  -

       -

. 

 2.2.      -

                                                           
7 .   .     « »  « » 

 [17]; . .  –  «   »  [43]; 
. .      « »  « »  [48].    
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     . 2.1 (   n =10).  

 :  

        -

 ,    xi     6 -

   {0, 1, 2, 3, 4, 5}; 

     0   ( )  

5  ( ),   k=6; 

    mi ( . . 2.2) : 

–  x1=0  m1=0  (   ’     ); 

–  x2=1  m2=1  (  ’     ); 

–  x3=2  m3=1  (  ’     ); 

–  x4=3  m4=2  (  ’     )  . . 

       : 

nm
k

i
i

1
,  10152110...21

1
k

k

i
i mmmm . 

 2.2 

     

: 
  

  
  

     

i xi mi fi = mi /n 
j

i
ij mm

1

*  
j

i
ij fF

1

 

1 0 0 0,00 0 0,00 
2 1 1 0,10 1 0,10 
3 2 1 0,10 2 0,20 
4 3 2 0,20 4 0,40 
5 4 5 0,50 9 0,90 
6 5 1 0,10 10 1,00 

 : 10 1,00   
 

    fi = mi /n ( . . 2.2) : 

–  x1=0  m1= m1 /n = 0/10 = 0,00  (  0 %); 

–  x2=1  m2= m2 /n = 1/10 = 0,10  (  10 %); 
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–  x3=2  m3= m3 /n = 1/10 = 0,10  (  10 %); 

–  x4=3  m4= m4 /n = 2/10 = 0,20  (  20 %)  . . 

       (  100 %): 

00,110,050,020,010,010,000,0/
11

k

i
i

k

i
i nmf . 

    
j

i
im

1
 ( . . 2.2): 

–  x1=0  01

1

1
mm

i
i ; 

–  x2=1  ;11021

2

1
mmm

i
i  

–  x3=2  ;2110321

3

1
mmmm

i
i  

–  x4=3  421104321

4

1
mmmmm

i
i   . . 

      : 

10152110654321

6

1
mmmmmmm

i
i . 

    
j

i
ij fF

1
 ( . . 2.2) : 

–  x1=0  ;01

1

1
1 ffF

i
i  

–  x2=1  ;10,010,0021

2

1
2 fffF

i
i   

–  x3=2  ;20,010,010,00321

3

1
3 ffffF

i
i   

–  x4=3  40,020,010,010,004321

4

1
4 fffffF

i
i   . . 

      (  100 %), 

       1,00  100%: 
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%10000,110,010,00621

6

1
6 ffffF

i
i . 

    , , -

     . 2.3.  

 
. 2.3.     

 

   (   )  -

    ,     -

  100 %       .  

        

 . ,   2.2    -

    . 2.4  2.5. 

;510,0

;450,0

;320,0

;210,0

;110,0

;000,0

)(

6

5

4

3

2

1

x

x

x

x

x

x

xXf ii  

;500,1

;490,0

;340,0

;220,0

;110,0

;000,0

)(

6

5

4

3

2

1

x

x

x

x

x

x

xXF ii  

. 2.4.   

   

. 2.5.   

    

 

      fi  Fi : 

–   )( ii xXf     fi  -
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 X,    x  (  ixX ); 

–   )( ii xXF     Fi   

X,     x  ( ixX     ,   x ); 

–       ’    -

 
j

i
ij fF

1
; 

– )( ii xXF     ,  )( ii xXf  – -

  .  

 2.3.      -

   . 2.4.  

 : 

   6  7      -

 x      MS Excel = (A2:E5)  = (A2:E5); 

       , 

     7   {0, 1, 2, 3, 4, 5, 6}; 

 
. 2.4.   = () 

     A12: 18   x    0  6 ( . 2.4); 

   12: 18,   F2    

«  »      MS Excel = (); 
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    = ()    ( . 2.5); 

 
. 2.5.    = () 

 

    CTRL+SHIFT+ENTER     

12: 18     ( . 2.6); 

 

 
. 2.6.     mi 

 

    ,    

     12: 19   ( . 2.7); 
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. 2.7.      

 

       ( . 2.8); 

 
. 2.8.     

 

    ( . 2.9). ,   

      « »,   ’  

, , MS Excel,  « »   . 
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. 2.9.     

   

 

     . , -

       . ,  

        x   

0  3 ,     0,25=0,05+0,05+0,15 ( . 

    . 2.10),   

 F4=0,25.  ,  ’    x   3  

25%    .  

  
. 2.10. ’    

  x   3  25 % 

. 2.11. ’     

3  x   4  55 % 

 

      x   3  4,  
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   0,55=0,15+0,40 ( .   -

  . 2.11),      

F5=0,65  F3=0,10,  0,65 – 0,10 = 0,55.  ,  ’   -

 3  x   4  55 %    . 

         

    –   : -

  ,       ,  

.       ,   

   1  100%.  ( )  

        -

,  .       , 

    x . 

 -     -

  ,      -

 (    )     . 

 

  
       

   ,     -  

           

.         (  

)   . 

 2.4.     IQ  -

  80       ( .  . 2.12) 

 :  

    ,    -

  ; 

      IQ   C12  G12  

  MS Excel = (A2:H11)  = (A2:H11),  

 IQmin =72  IQmax =137 ( . 2.12);   
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. 2.12.      = () 

    k    =1+3,32 lg n , 

 n –  .      13  

= (1+3,32*LOG10( (A2:H11));1)     8; 

     =( IQmax – IQmin)/k   

D13    =(G12-C12)/B13.     = 

8,125,          -

  = 10; 

    17:D23   IQ    

IQ     IQ  10   ,   

 IQmin = 72   ,   IQmax = 137 –   

 ( . . 2.12); 

   17: 23,   F2    

«  »      = (); 

    = (),    . 2.13; 
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. 2.13.    = () 

 

    CTRL+SHIFT+ENTER,    

17: 23     ( . 2.14); 

 
. 2.14.     

 

    ,    

     F17:H23   ( . 2.15); 
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. 2.15.      

 

      IQ ( . 2.16)  

   ( . 2.17). 

 
. 2.16.      IQ 

 

     IQ   

   . 2.17.  
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 IQ

32,50%

2,50%
1,25% 0,00%

20,00%18,75%

0,00%

17,50%

7,50%

0%

10%

20%

30%

40%

70 80 90 100 110 120 130 140 150 IQ

f(IQ)

0,00

0,10

0,20

0,30

0,40

0,50

0,60

0,70

0,80

0,90

1,00

  F(IQ)
  f(IQ)

 F(IQ)

 
. 2.17.   IQ 

 

   –   f(IQ) – -

 .         

,     .    . 2.17,    

,       ( ,  -

   ).   – 32,5% –  

      IQ  100 ; 1,25%  -

     « »  IQ  140   7,5% 

–  «  ».     -

,     .  

   F(IQ)  .   

        IQ. -

,     . 2.16 ,    IQ  100 (   

100 )  57,5%    ,    IQ > 120 

(  120 )   3,75%    (    

,   : 100% – 96,25% = 3,75%). 

  (   )    -

     ,  -

       « »  

,       .  
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      ( -

)     ’ .  

 2.5.       -

    ( ) 16  ( . 2.18).  

  . 

 : 

       :D; 

          xi, -

, « » – 1; « » – 2  . . (  C:D  E:F); 

     mi   G3   

= ($D$3:$D$18;F3).      G4:G6; 

     ’  n   G7  -

 = (G3:G6); 

     mi/n   H3  : 

=G3/$G$7,      H4:H6.   H7  

 = (H3:H6). 

 
. 2.18.       
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        ( . 2.18),    3 

   « » (18,75%), 7 –   « » (43,75%), 5 – 

« » (31,25%)  1 – « » (6,25%). 

       -

  :  ( . 2.19)    ( . 2.20).  

    

3 7 5 1

    

; 
43,75%

; 
18,75%; 6,25%

; 31,25%

 
. 2.19.      . 2.20.   

 

       -

   , ,    , -

   –    « »,   43,7%  -

 ( . 2.19  2.20).  

 

  

      ( ) -

 , ,     . 

        

  . 

  2.6.       

( .  :   . 2.21). 

 : 

   2   ,    -

  2      $2: $10: 

= (B$2:B$10) + 1–(( (B$2:B$10) + 1– (B2;B$2:B$10; 

1) – (B2;B$2:B$10; 0))/2+ (B2;B$2:B$10;1)); 
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. 2.21.    

   
. 2.22.   

«  » 
 

      3: 10; 

   11   = (C2:C10),    ; 

    2: 10      -

  MS Excel [  –> ]    ( . 2.22); 

       ( . 2.23);  

      ( . 2.24). 

 

 

8
10

12

16

6
7

11
14

5

0
2
4
6
8

10
12
14
16
18

 

 
. 2.23.    

  
. 2.24.    
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    ’      -

  .  

      -

,   . 

    , -

,  . 2.16. -    :   

     .   

        . 

       . 

   –    -

 ,     ,   -

 .  . 2.25 – 2.27     

    .   , 

 '          ( -

  ),    . 2.17. 

   
. 2.25.  

 
. 2.26. 

 
. 2.27. 

  
 

     -

   , ,  f(xi),  -

  F(xi). ,    . 2.25 –    -

  : 
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.6,13.0

;5,33.0

;4,27.0

;3,13.0

;2,07.0

;1,07.0

;0,00.0

)(

x

x

x

x

x

x

x

xf i
 

 

      . -

    ,   '    -

  .  

. . 

1.      . 

2.       ? 

3.     ,    

? 

4.        ?  

5.       ? 

6.       ? 

7.       ? 

8.       2.1 – 2.6. 

9.     1   2. 
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2.2.   

 

   ( ) 

   ( )    

   .      

  , , «      -

 ?», «      -

  ?».      -   

  : , ,  .    

  ,       '  -

   . 

 Mo –  ,      

. ,    2, 2, 3, 3, 3, 3, 4, 4, 4, 5, 5   3 (Mo = 

3).    ,        (  -

    3),      (    

 4). 

      : 

    , ,   2, 2, 3, 3, 4, 4, 5, 5; 

       ,    

   . ,   2, 2, 3, 4, 4, 4, 5, 5, 5  

  = (4+5)/2=4,5; 

   ,    . ,   2, 

2, 3, 3, 3, 4, 5, 5, 5  ,    1 = 3  2 = 5;  

        . ,  2, 2, 

3, 3, 3, 4, 4, 4, 5, 6, 6, 6, 6, 6, 6, 6, 7, 7, 7, 8, 9, 9, 9, 9     

1 = 6     2 = 3,5  3 = 9. 

    –     .  

. 2.25  6=5    (0,33),      = 5.  

 Md –  ,      
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  .      -

   2/)1(nxMd . ,  11  4, 4, 

4, 5, 5, 5, 5, 5, 6, 6, 7   4 ( d = 5), :  

562/)111(2/)1( xxxMd n . 

     ,      

  : 
2

12/2/ nn xxMd . ,  12 -

 3, 3, 3, 4, 4, 5, 6, 6, 6, 6, 7, 7  d = (5+6)/2 = 5,5: 

5,5
2

11
2

65
222

7612/122/1212/2/ xxxxxx
Md nn . 

  X  (    )  n 

 : 

n
xxxX n21  .                             (2.1) 

  , , 
n

i
ix

n
X

1

1  ix
n

X 1 . 

,   (2, 2, 3, 3, 4, 5, 6, 7, 7, 8)  X : 

7,410/4710/)8776543322(X . 

    ,   : 

i

ii

f
xf

X ,                                   (2.2) 

 x  –        

    ; f  –  . 

   : 

    ,    «  ».  

          ; 

            

.         ;  

       -

,        .  
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,     ,   ,  -

    , , 10-  '   ( . 2.28).  

 
. 2.28.   

 

 ,     ,      

   (  4,8  5,7).     

  ,       .  

   ,    ,    

        ( , -

  ),        

      ,  -

 «   »,     .  

 –   ,       -

      -   . ,  

 {1, 3, 6, 8, 9}  Md = 6.   : |1–

6|=5, |3–6|=3, |6–6|=0, |8–6|=2, |9–6|=3.     5+3+0+2+3=13 

     -   . ,  1 

  |1–1|=0, |3–1|=2, |6–1|=5, |8–1|=7, |9–1|=8,    

0+2+5+7+8=22.     .  

  ,     –  , 

 « »       -

   .       -

,    –  ,  « » -

        . 

        

   ,  .   -

,  ,      –   ( ). 
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  ( ) 

       

      ( . 2.29),    

,   (     )  (   

,  d   X   4). 

 
. 2.29.   

 

       :  s2
x  

  sx ( .    . 2.29).  -

  « »     .  

   n  : 

1
)()()( 22

2
2

12

n
XxXxXx

s n
x ,                (2.3) 

 
1

)( 2
2

n
Xx

s i
x ,   X –   . 

  s2
x,     ,   

    2
x    -

 n/(n–1), : 

1
)(

1
)( 22

2

n
Xx

n
n

n
Xx

s ii
x .                (2.4) 

 n–1     k –  ’  

      ,    

.       ( ),   -

   k= n–  (   –   « »).  

       : 
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.2

222

222

)()()()(

2222

222
21

22
2

2
1

222
2

2
2

2
1

2
1

22
2

2
1

2

XnxXnxXx

XXXXxXxXxxxx

XXxxXXxxXXxx

XxXxXxXx

iii

nn

nn

ni

 

     : 

)(
1

1 222 Xnx
n

s ix .                             (2.5) 

    ,    

22 )(
1

1 Xxf
n

s iix ,                            (2.6) 

 x  –        -

    ; f  –  , X – . 

      . 

  ,    .   -

    . 

    N  : 

N
xxx N

x

22
2

2
12 )()()( ,                      (2.7) 

 
N

xi
x

2
2 )( ,  ix

N
1 –    . 

     2
xx ss .       (2.8) 

    2
xx .         (2.9) 

  Vx      -

     (     %)   

    : 

XsV xx / ·100% .                              (2.10) 

 Ax      

 .       -

   '  ,  –   .  
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n

i
i

x
x Xx

sn
A

1

3
3 )(

)(
1 .                  (2.11) 

 Ex       

    .    

  ,  –  . 

3)(
)(

1
1

4
4

n

i
i

x
x Xx

sn
E .                  (2.12) 

« »     N( , )  -

   .    = 0 –    -

   ,   = 0 –   « » –  

   . 

.      Ax   

Ex    ,  ,  -

 MS Excel:  

  
n

i
i

x
x Xx

snn
nA

1

3
3 )(

)(
1

)2)(1(           (2.12 ) 

n

i
i

x
x Xx

sn
KA

1

3
31 )(

)(
1

,   
)2)(1(

2

1 nn
nK . 

  

)3)(2(
)1(3)(

)(
1

)3)(2)(1(
)1( 2

1

4
4 nn

nXx
snnn

nnE
n

i
i

x
x   (2.12 ) 

 

3
1

4
42 3)(

)(
1 KXx
sn

KE
n

i
i

x
x ,   

  
)3)(2)(1(

)1(2

2 nnn
nnK   

)3)(2(
)1( 2

3 nn
nK  . 

 . 2.30 ,   1, 2  3    

 n     (   n>30),  

 (2.12 )  (2.12 )    (2.11)  (2.12) . 
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K 1 , K 2 , K 3

0

1

2

3

4

5

6

7

0 10 20 30 40 50
n

K1 K2 K3

 
. 2.30.   1, 2  3  

   n 
 

  ,    -

   « »       n. 

         

   . ,    . 

2.31      ( ,     

)     (     ).  

 . 2.32        

(  ),     .   -

      . 

 

 
. 2.31.   , 

   
. 2.32.   ,  
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. 2.33.    . 2.34.  '  

 
. 2.35.   . 2.36.  '    

 . 2.33 – 2.36 ,      

 « »    ( ) . 

        -

     ( .  5.2) 

 

      

        MS Excel  

  : 

        ; 

    MS Excel; 

   «  »  «  ». 

 1.        . 2.37, 

  ,    MS Excel –  . 2.38 . 
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. 2.37.       

 

 
. 2.38.        



 45

 

   Mo=2 (  2    5 ). 

   

2
2
4

2
22

222
7612/122/1212/2/ xxxxxx

Md nn . 

   33,228
12
11

ix
n

X . 

  52,1
11

67,16
112

67,16
1

)( 2
2

n
Xx

s i
x . 

   23,152,12
xx ss . 

  

99,087,16
)23,1(

1
)212)(112(

12)(
)(

1
)2)(1( 3

1

3
3

n

i
i

x
x Xx

snn
nA . 

 
)3)(2(

)1(3)(
)(

1
)3)(2)(1(

)1( 2

1

4
4 nn

nXx
snnn

nnE
n

i
i

x
x = 

36,0
)315)(215(

)115(351,147
)41,1(

1
)315)(215)(115(

)115(15 2

4
. 

 

 2.        -

    . 2.39,   –  . 2.40-

2.43.        MS Excel: 

 

  = ()  = () 

 = () .  = () 

 = ()  = () 

 = ()  = () 
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.  2.39.  ,       

   MS Excel 
 

     = ()  -

   2.40-2.43. 

 
.  2.40.  = 0;  = 0,20 .  2.41.  = –0,18;  = –0,75 
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.  2.42.  = +0,70;  = +0,26 .  2.43.  = –0,68;  = +0,64 

 

 ,   ,   -

  ( .  F25:J27).   f1(x)   -

 (0,00),    (0,20)      

    ( . 2.40).  

 f2(x)   '   (–0,18)  

 '   (–0,75) ( . 2.41).  f3(x) « -

»      (0,70)     (0,26) 

( . 2.42).  f4(x)  '   (–0,68)    -

  (0,64).    « »     -

     . 

 3.          

«  »  «  »     : 

     Excel [  –>  ], -

  «   ( . 2.44),   ; 

. 2.44.  «  » 
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     «  » ( . 2.45)  

   ,        -

  C:D ( . 2.46); 

 
. 2.45.     

 

         -

  1 ( . 2.37),  . 

 
. 2.46.    

    
 

,      (   

 ),         

     MS Excel. 
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      -

  –    . 

  k-      : 
n

i
i

k
ik fxv

1
.                                 (2.13) 

  k-     : 
n

i
i

k
k fxm

1
)( ,                           (2.14) 

  –  ; fi  –   ,  – -

 .  

,     (k=1)    

   

fxv
n

i
ii

1
1 .                            (2.15) 

   (k=1)  ,   -

  

0)(
1

1

n

i
ifxm .                        (2.16) 

   (k=2) –   2
xs    

2

1

2
2 )( x

n

i
i sfxm .                       (2.17) 

   (k=3)     
n

i
ii fXxm

1

3
3 )( . 

     m3   -

  3)( xs ,      x: 
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x

n

i
ii

xx

AfXx
ss

m

1

3
33

3 )(
)(

1
)(

.                  (2.18) 

   m4    « -

»  ,    
n

i
ii fXxm

1

4
4 )( . 

  x   4-    m4 : 

x

n

i
ii

xx

EfXx
ss

m
3)(

)(
13

)( 1

3
44

4 .        (2.19) 

      ’ : 

01m ;  

2
122 vvm ,  

   : 
n

i
ii

n

i
ii

n

i
iii

n

i
i fXxfxfXxxfxm

1

2

1

2

1

22

1

2
2 )2()2()(  

2
12112

11
2

1

2
2 0)()( vvvvvfxXfxXvfXxXxv

n

i
ii

n

i
ii

n

i
iii  

,   2
2 xsm ,  

n

i
ii fxv

1

2
2 ,  

n

i
ii fxv

1
1 ,    

  ,     : 
2

11

22
n

i
ii

n

i
iix fxfxs . 

  3-   4-       -

  : 
3
12133 23 vvvvm ,                                                                       (2.20) 

4
12

2
13144 364 vvvvvvm   . . 

   ,  , -

   4-  . 
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        -

      ( ., -

,  4 «   »). 

 

 

    ,   

      .  –  

.      : 

  (P1, P2, …, P99);  

  (D1, D2, … , D9); 

  (K1, K2, K3, K4); 

  (Q1, Q2, Q3).   

     ( )  .  

      ,  -

    0,01  (  1%). 

     .   Q1 -

  0,25  .   Q2  -

       (  0,5),   . -

,   Q3   0,75  .  

     , ,  

   : Q1= 25, Q2= 50, Q3= 75.   -

   , , ,   

-   .     . 

   -      

 . -     ,       

.       .   . 

2.47 ,  25-   25  1-   Q1   3 

( 25=3  Q1=3) ,      25%  . 

    ,  75  Q3 (75-  -
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  3-  )  6.      

75%   .  

 
. 2.47.   

 

      MS Excel 

= ()  = ().  . 2.47   F4  G4  

= ($C$4:$C$23;D4)  = ($C$4:$C$23;E4) . 

 = ( ; k)  k-     

   (  k     0  1 ).  -

      , -

,       ,  -

   ,  75-  .  k    1/(n – 1),  

 = ()    k-  .  

   .  MS Excel 

= ( ; k)    . 2.3  .  
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 2.3 

  = ()MS Excel 

 k   

0   
1   (25-  ) 
2   (50-  ) 
3   (75-  ) 
4   

 

       -

, . ,    –   -

  ,       Md.  

« »      .  

   ,      -

,  E = 0,5 (Q3 – Q1),  Q3  Q1 – 3-   1-  . 

 

  

  –  , ,   ( . . 2.48),  -

       

x

j
j s

Xx
z ,                                          (2.21) 

 xj –  j-      ; 

X   xs  –       1; 

jz  –  . 

,  1-   z1  ( . 2.48): 

71,1
63,1

79,311
1

xs
Xxz . 

      : 

    (  A:B . 2.48)   

 X     xs    16  17   
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 = ()  = (); 

 
. 2.48.     Z 

 

   2   =(B2-$B$16)/$B$17    

  –1,71; 

      3: 15 ( . 2.49); 

    C16  C17     -

   Z  ,    0  1; 

 
. 2.49.      Z 

 

    D:H   fx   fz -
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     = () ( . . 2.48 – 2.49) 

    ( . . 2.50 ). 

0,00

0,10

0,20

0,30

0 1 2 3 4 5 6 7 8 X

f x

 

0,00

0,10

0,20

0,30

-3 -2 -1 0 1 2 3 Z

f z

 
( ) ( ) 

. 2.50.   : ) ; )  
 

 . 2.50  ,     -

      ,     

 :      3,79,  -

 – 0,00.       – 1,63  

1,00 .       -

  ( ., ,  2.3). 

. . 

1.       .  

2.   ,     . 

3.   « »  « » .  

4.    ,    -

 ? 

5.      , -

  . 

6.       ? 

7.      ? 

8.        ? 

9.   « »,     ? 
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10.       ? 

11.    «  »,   ? 

12.        -

      MS Excel. 

13.     3. 

 

2.3.   

        -

           -

  ,    '   ,   -

  .    ’ ,    

    X  Y: 

     Y   ; 

       Y  ; 

     Y  . 

,     . -

    ,  –  

    . 

  
 

 (  . correlatio – ) –   -

   ,    . 

  '          

    X  Y ( . 2.51)     -

. , ,      -

   ,       

 '  ( . 2.51 , ).      -

   ,       

  ’  ( . 2.51 , ).     

 '   ( . 2.51 ).     
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      ,     -

    ’  .  

0

1

2

3

4

5

6

7

0 1 2 3 4 5 6 7 X

Y

0

1

2
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4

5

6

7

0 1 2 3 4 5 6 7 X

Y

 
0

1
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6
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0 1 2 3 4 5 6 7 X

Y

 
a) rxy = +1,00 ) rxy  +0,88 ) rxy  0 

0

1

2

3

4

5

6

7

0 1 2 3 4 5 6 7 X

Y

0

1

2

3

4

5

6

7

0 1 2 3 4 5 6 7 X

Y

 
0

1

2

3

4

5

6

0 1 2 3 4 5 6 7 X

Y

 
) rxy  –0,60 ) rxy = –1,00 ) 

. 2.51.       X  Y: 

a)   ; )   ; 
)  ;  )   ; 

)   ; )   
 

 -     

'   ( . . 2.51 ). ,    

  ,      

(  « » –  – ).   -

 ’          –

1  +1. ’       ' , -

 –  .       ' . -

 '  (  '  –  –  – ) -

     .  

    ’   '   -
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   ( . 2.4)8. 

 2.4 

       
  X  

 
Y 

 
 ( )   

 
(

)    rxy ; 
  

    ; 
 

  rtet 

  

 

  rs  
(  ,      

  
   -

 ) 

   
  
rs;  

  ; 
  

 W 

 

 

-  
   rpb; 

  -
 rbis 

-  
  

  
  

 rb 
 

  ; 
 

  Q; 
 

  K 
   

 

 '   ,    , -

    .  

 

  

  ’    ,   -

   ,     -

  rxy 

n

i

n

i
ii

n

i
ii

xy

yyxx

yyxx
r

1 1

22

1

)()(

)()(

,                          (2.22) 

   y  –     Y; x   y  –    Y; n –  .  

                                                           
8      ’    

   [56]. 
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 (2.22)   ,     

  y    zx  zy,   : 

1

)(
1

n

zz
r

n

i
yx

xy ,                                      (2.23) 

 
x

x s
Xxz   

y
y s

Yyz  –      Y. 

 2.7.  '      Y    

 . 2.52      (2.22)  (2.23). 

 1. 

 : 

    '      Y   

  ( . 2.52);  

0

5

10

15

20

25

30

100 105 110 115 120

Y

 
. 2.52.     

 

 ,   ,    -

   rxy ( . 2.53  2.54); 

   16  16    x  y  

00,1121
1

n

i
ix

n
x ;        17,181

1

n

i
iy

n
y ; 

   F15  G15    : 

00,386)(
1

2
n

i
i xx ;         67,311)(

1

2
n

i
i yy ; 
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. 2.53.     rxy 

   H18    : 

00,242)()(
1

n

i
ii yyxx ; 

   17    rxy  : 

70,0
67,31100,386

00,242
xyr . 

 
. 2.54.   rxy 

 

 rxy  +0,70     '   .  
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 2. 

 : 

   rxy      . 

2.55,    . 2.56.  

 
. 2.55.   rxy    

   16  16    x  y ; 

   17  17     sx  sy; 

 
. 2.56.   rxy     

   D  E    zx  zy (  , 
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     0,    – 1,00); 

   18    rxy   (2.23); 

.     rxy  +0,70   -

.        -

.      rxy   -

     MS Excel = (). 

 

  

 2.8.  '    (  X)   -

  « - »     (  Y). 

    15     . 2.58.  

 : 

    ( ) '    

  (X)   (Y)     ( . 2.57); 

4

6

8

10

12

14

6 10 14 18 22 26 30 34 38
 , 

, y

 
. 2.57.     

 

 ,    –   -

       10  22 ,  -

 ,    .     

     –  , 

       0  1: 
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xy SSSS /12
, ,                           (2.24) 

 
n

i
i

n

i
i yysSS

1

2

1
)( –    -

 y    y ; )1(2 nsSS y  –   ; 

    si      ( -

    ,    -

    . 2.58  2.59); 

    D3  =(C3- ($C$3:$C$4))^2.  

    D4 (   10     ); 

 
. 2.58.   

 2
,xy  0,67 

. 2.59.    
  2

,xy  
 

  si    ,   x = 14, 18, 22, 26, 30, 34  38;  

   D18  SS  (  = (D3:D17)); 

   D19  SS  (  = (C3:C17)*(A17-1)); 

   D20   2
y,x (   =1-D18/D19);  

   D21       -
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    MS Excel = (B3:B17;C3:C17).  

    (rxy  –0,04),    ( -

)  -  '   ;  

       :  -

 D22     10  22,   D23    26  38  .  

,    10  22       

 (rxy +0,83),    ' ,   -

  .    26  38     '   

 (rxy –0,69),     ' .  -

  67,02
,xy       

’   X Y. 

    ,    2
y,x   -

 y,   – ,     Y  X.  , 

    '     rxy = ryx, 

 2
y,x  2

x,y    .     -

 ( . 2.57),     ,   , , -

 10  ( =10),       8  

(Y=(7+9)/2=8),        , ,  8    

    10,    38 . 

   -   -

          5.6. 

  

  '   

  ' , ,   K    -

   '   ,     -

     .       

       (k1  k2): 

)1)(1( 21

2

kk
K ,                                     (2.25) 



 65

 k1  k2 –       (    Y). 

  '    ,   

        (k1 = k2): 

2

2

1
,      1

1

1

2

1

2

2
k

y y

k

x x

xy

n

n
n

.               (2.26) 

   K      0  1.  

 2.9.  '       -

      ( . 2.5).  

 2.5 

     

  (  X)   
(  Y)     : 

 10 43 7 5 65 
 42 14 25 6 87 
 51 11 10 33 105 

 103 68 42 44 257 
 

 : 

         (k1  k2) -

   '   .  

      . 9.20    : 

–    2,    k1 = 3  k2 = 4:   

11
3

2

1

2

2

2

1

2

1

2

1

2

1

1

2

1

2

2

n

n
n

n

n
n

n

n
n

n

n
n k

x x

xyk

x x

xyk

x x

xy

k

y y

k

x x

xy

.    (2.27) 

–    ( . 2.60   2.61): 
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538,0
16

11
1

8
3

12
9

14
3 2222

1

2

1

2

1 n

n
n

A

k

x x

xy

; 

454,0
16

11
2

8
4

12
2

14
8 2222

2

2

1

2

2 n

n
n

A

k

x x

xy

; 

513,0
13

11
8

8
1

12
1

14
3 2222

3

2

1

2

3 n

n
n

A

k

x x

xy

. 

 
. 2.60.       

 

. 2.61.       
 

–   2: 
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2 = 0,538+0,454+0,513–1  0,505. 

–      '    

45,0
)14)(13(

505,0
)1)(1( 21

2

kk
K . 

.    K  0,45    

 ’    Y  .  '  -

   .       .  

 

. . 

1.   ?    ' -

. 

2.    ’  (   )   X  Y  

? 

3. ,       -

. 

4.   ’   ,   – ? 

5.     ( ) ? 

6.        ? 

7.     ( ) ? 

8.      . 

9.        -

? 

10.      

'   K   . 

11.        '  

 K   ?  

12.       2.7 – 2.9. 

13.     4 –  6. 
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2.4.   

 ’        -

,    ,    .  

   –  ’    -

      .   -

        .  

      (  )  -

 ( )    (  Y), '    . 

     '  ,   

         

Y = f (X),       (    

 )    '     Y. 

 Y = f (X)    ,  f (X) –  -

,    –  .     -

 -  (  )     -

 (  ).       -

 ( ),  ,   .  

 

    

      , , -

    Y,      = 0 + 1·X.  

   ,      

    .      -

    0  1:  

21 )Xx(
)Yy()Xx(

a
i

ii ;                      (2.28)         

XaYa 10 ,                                       (2.29)             

 Y   X  –    Y  .   

   0  1    «  



 69

» ,  2
10

2
)()~( iiii XaayYy    . 

    Y   – ,   -

       X~ =b0 + b1·Y.   

 b0  b1    0  1. 

 2.10.     (Y)  -

  (X).      . 2.62. 

 :  

     0  1 : 

–   15  15  = (B3:B13)  = (C3:C13)  

    X   2,39   Y  4,09; 

–    D3:H13  ,      

  ,    . 2.63;  

–    F14:H14      ;  

–   D17  D17     1  0 

   =F14/G14  =C15-D17*B15:  

1 = 7,11/5,19  1,37     0 = 4,09–1,37·2,39  0,82; 

. 2.62.    
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. 2.63.       

 

–    3: 13      -

  =0,82+1,37·X.     3    

=$D$18+$D$17*B3.        ; 

–   17: 18     

 b0  b1   X~ =b0 + b1·Y; 

–   D21       

=F14/ (G14*H14)  = (B3:B13;C3:C13),  rxy  0,76; 

–     ( . 2.64). 

1

2

3

4

5

6

7

1 1,5 2 2,5 3 3,5 4

 

Y

X =0,67+0,42Y

Y= 0,82+1,37X

 
. 2.64.    
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.   =0,82+1,37·X   X~ =0,67 + 0,42·Y ( -

 )      -

     .    

        : -

  Y   ,  – ,    Y ( -

,     ). 

 

  

  –  , ,  Y  -

 m   1, 2, …, m.    

   m=2,       Y 

   1  2.      : 

02211
~ BXBXBY ,                             (2.30)                  

 111 s/sbB y ;       222 s/sbB y ;          22110 XÂXÂYB ; 

)r/()rrr(b yy
2

1212211 1 ;      )r/()rrr(b yy
2

1212122 1 ; 

 sy, s1, s2 ,Y , 1X , 2X –      Y , 1   2 ; 

ry1, ry2, r12 –      Y  1, Y  2, 1  2. 

  ' ,   ,  Y,    –  -

 1  2,    : 

22112,1 yyy rbrbR .                          (2.31)                  

 2.11.    Y   -

  1  2    . 2.65.  

 :  

         -

 ( . 2.65  2.66): 

–   15:D15  = (B3:B14), = (C3:C14)  

= (D3:D14),    Y  4,00, 1X  5,83  2X 3,17; 

–   16:D16   = (B3:B14), 
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= (C3:C14), = (D3:D14)   -

  sy  0,74; s1  2,17  s2  1,11 ; 

–    17: 19     -

     MS Excel = ()    

    ry1  0,68; ry2  0,11  r12  –0,21; 

–    20  21   =(B17-B18*B19)/(1-B19^2)  

=(B18-B17*B19)/(1-B19^2),   b1  0,74  b2  0,27; 

–   20: 22   =B20*B16/C16, =B21*B16/D16  

=B15-E20*C15-E21*D15,      

1  0,25; 2   0,18  0  1,97; 

 
. 2.65.      Ry-1,2 

 

–    3: 14      

    =0,251·X1+0,18·X2+1,97.    -

 3   =$E$20*C3+$E$21*D3+$E$22.   -

   4: 14; 

–   22   = (B20*B17+B21*B18)    

    Ry-1,2  0,73. 
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. 2.66.         

 

  =0,251·X1+0,18·X2 +1,97   -

  Y   1  2. ,   

  :   2,83  1=2  2=2    3,08  1=3  2=2  . -

   2,1yR 0,73     ' -

   Y,   ,   1  2,  ,   

        .  

 

. . 

1.       . 

2.      . 

3.     . 

4.       2.10 – 2.11. 

5.     7. 
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 3.     
 

        -

  ’  .     -

       -

 – .     ,      

( ) ,       

,      .  

     ( , -

 )   ( ) . ,   -

       ,   

       ,   

 . 

 ,       -

,      , -

        . 

,        -

     ,   -

 .  « »  ,    -

    (   ).    -

   «   »   « -

 » . ,     

   n : x1, x2, … xn.    -

    n     

     F(x),    -

, . 

   ,     ( -

).          

  .   ,    

'        .  
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3.1.    

    

        

        

   ,    .  

 –      ,    

   ( ,     ).  

  ( ) –    ( , 

   : « » – «  », «1» – 

«0»).         -

       .  

     , ’   -

,   . 

     { 1, 2, …, n}  

   ( ).    : « -

     ».   ,   -

     .  

  A    ,  

    .      

  ( ,     ),   

 { 1, 2, …, m}    { 1, 2, …, n} ( , -

  m   n ,  m  n).   

    ( A ),       .  

   ( )     . 

   V,      . 

   U,      . 

     ,       .  

       ,     -

   ,   ,  C . 
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       ,       

     ,  C . 

  ,       

   ,    .  

  ,        

     .    

    . 

        

,        .  ,  -

         -

     .  

,         

      ,    

 ,    (  – , -

 –   . .),        

( , ,   .). ,    

            

, , ,        -

 ’  . 

         

,       

(1903-1987),    .      

   (XVII-XVIII .),     (  

   .),      -

     ’   ,  

,  ,      

.        -

   . 
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       -

  –   –     ( . 3.1). 

    
)    

B  
)  

BA  
)  

F=B 
)  

= \  

 
B  C  : 

 
B  D  : 

 ·   +    ·D  +D 

  
)  

CB  
) '  

CB  
)  

DB = Ø 
) '   

DB   
. 3.1.    

 

        ( , B, C, 

...)     . ,    –  

  ,    –    .  

         -

, ,         

  .  

       ,  -

  ,  ,     . 

         . 

 3.1.     (  )  -

   {1, 2, 3, 4, 5, 6, 7, 8, 9}.    

  .  , B, C, D  F     

  : A={2,3}; B={2,3,4,5}; C={3,4,5,6}, D={6,7,8,9}  

F={2,3,4,5}. ’      . 



 78

: 

)        B={2,3,4,5}  

  ={1, 2, 3, 4, 5, 6, 7, 8, 9}.      -

  ,     B     , 

 B  ( . 3.1 ); 

)    ={2,3}    

B={2,3,4,5},          B.   -

  ,          

B.    « »    BA ( . 3.1 ); 

)  F  B    : B={2,3,4,5}  

F={2,3,4,5}.  ,   B     F, -

FB .     F    B,  BF  . , 

 F  B .     F=B ( . 3.1 ); 

)  ,  ,     ,  

  .       

 B,  B =  \  = {1, 2, 3, 4, 5, 6, 7, 8, 9} \ {2,3,4,5}={1, 6, 7, 8, 

9}.   ={1, 6, 7, 8, 9} (    . 3.1 ); 

)  ·      –  ,        

,   .         

: CB = {2,3,4,5} {5,6,7,8}={5}.   ·   ,   

      ,     

( . 3.1 ).         ={5}; 

)  +      –  ,         -

  ,  .     '   

   : CB = {2,3,4,5} {5,6,7,8}={2, 3, 4, 5, 6, 7, 8}.   -

 +   ,           

 {2, 3, 4, 5, 6, 7, 8} ( . . 3.1 );  

  ·     + ,     -

   ( . 3.1 ,  ),       -
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 B  C,    .  ,    -

    ,  .   

  ·D     +D   . 3.1 , ; 

)       ·D  -

     D: DB = {2,3,4,5} {6,7,8,9}={}=Ø.  -

      Ø,   -

 .    . 3.1 ,    D    

 –  .     ·   -

 ; 

)   +D     D  '  -

    D: DB = {2,3,4,5} {6,7,8,9}={2, 3, 4, 5, 6, 7, 8, 9}.  -

         ( . 3.1 ).  

 ,         -

 .      -

 .         -

  ,       

.        

     . 3.1.   

 3.1 

       

    
     

      
   

  ,     
    Ø 

,  B  B,  B  
 +      '       

 ·            
     = Ø,   
       Ø,    
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       .  

   –    '     

(   ).     ( ). 

   ,   ,  

       .  

   U  , (U) = 0. 

   V  , (V) = 1. 

,  (A) -       -

  : 0 (A) 1. 

      ,    -

        ,  -

 .   : 1)   ; 2) ; 3) -

,     « ». 

    –   (A),     -

           

      :  

AAP
___

____)( .       (3.1) 

      ,   -

        : 

               
n
m

AP )( ,                                         (3.2) 

  m –       ; 

       n –   . 

,     n   fi( )=mi/n -

    ( )    . 

 3.2.     ( )  ,  -

    20   (    ) 

     7 (   ’ ). 
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:     m=1,   -

 n=20.   ( )   –   m / n: 

%505,0
20
1)(

n
mAP .  

:       7  0,05  5%. 

 3.3.      5     

    15 .   ,   -

    ,      ? 

:     5+15=20 (n=20),  

    5 (m=5).    : 

%2525,0
20
5)(

n
mAP  

:      0,25  25%. 

,       ,  

   ,     -

         -

.        .   

   ,       

 ,   ,      .  

        

 ,    . . . 

 . .    ={ }   

  ,    9 . 

    ,     ,  

,    ’   P( ),  P( ) 0. -

 P( )      ,   -

     1, :  

1)(P .                                          (3.3) 

 { , }   ,     
                                                           

9  (   . stochastikos –  ), , .  
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   ’   ,        -

  (3.3).   ( )      -

   ,     :  

A
PAP )()( .                                      (3.4) 

 -    ( ),     

={ },      ,  ,  

   (  ): 

1) ( ) 0  -  ; 

2) ( )=1; 

3) ( 1 2 3 ...) = ( 1)+ ( 2)+ ( 3)+...   -

   ( i j = Ø, i  j). 

,   ’ ,    

   . ,   -

     { , },    = { , } –  

 ; P( ) = P( ) = ½ –   ; -

  :  – «  »,  – «  ». 

   ( )   ,   

    –    0  1,      

         . 

   ,    (3.3)  (3.4)   

 : 

4)  -       )(1)( APAP . 

5)      : 

1)()( APAP . 

6)    ( ) = 1 (   2). 

7)    ( ) = 1 – ( ) = 1 – 1 = 0. 

8)   ·      : )()()( BPAPP .  -

 . 3.2  ,      B   ( )  
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 (  ),      ( ·  )> 0. 

9)   +        : 

)()()()( BAPBPAPP ,  )( BAP –      

.   . 3.2  ,         ,   

            ·     

.       (B+C) < ( )+ (  ). 

  
) )()()( BPAPP  ) )()()()( BAPBPAPP

. 3.2.         B 
 

10)   ·        .  -

 . 3.3  ,          , -

      Ø ,   

   ( · ) = 0. 

11)   +        -

 : ( + ) = ( ) + ( ).   . 3.3  ,    

      ,       

  B  C.  

  
) ( · ) = 0 ) ( + ) = ( ) + ( ). 

. 3.3.         B 
 

12)      { 1, 2, …, n},  -

  ,   

P( 1) + P( 2) +, …, + P( n) = 1         1)(
1

n

i
iAP . 

        



 84

   .  , , , ...  -

,        

     : ( · · ...) = ( )· ( )· ( )... .  

         

        . , 

        -

     : , , ,   (  

 :   –         –  

;  –   – ,    –   . .).    

«  –     »  «  –     »  

    ,   -

    ½,      ½ · ½ = ¼.  

        ¼.  

       . 

 
  

     ,    

   ,       -

  )|( BAP . ,   )|( BAP  -

   ,   ,     .  

      .    

       : 

)()|( APBAP ,    )()|( BPABP . 

   (  )     . 

         : 

)()|()( BPBAPP .                          (3.5) 

  ( | )       , 

    ,  P( ) > 0,   (3.5):  

)(
)()|(

BP
PBAP .                            (3.6) 
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         : 

)()()( BPAPP . 

 3.4.    15   10 .   

,         ? 

:     (    - ) 

    : 1 (    )  2 

(     ), )()( 21 BBPP .  

 1 – ( 1).   2    1   

  )|( 12 BBP .     1  2 

: )|()()( 12121 BBPBPBBP .  

  1      (10)  

   (10+15),  4,0
1510

10)( 1BP .  

  1       2,  : 

    (10–1)=9,     

(9+15)=24.    2     (9)  -

   (24)  375,0
159

9)|( 12 BBP .  

  ( )     

%1515,0375,04,0)|()()()( 12121 BBPBPBBP . 

:     -   15%. 

 
    

,    (  )   n  -

  –  nHHHH ,,,, 321  ( . . 3.4).  

 
. 3.4.   { nHHH ,,, 21 }  
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 . 3.4 ,            -

   nHHH ,,, 21  (       ): 

= · 1+ · 2+...+ · n = 
n

1
. 

   (    )    

)()(
1

n
PAP . 

   (    ) : 

)()|()(
1

i

n

i
i HPHAPAP .                      (3.7) 

 (3.7)     ( )  ,    

   .  nHHH ,,, 21    -

,      .  

 3.5.     (  28, 20  25 ) -

  7, 2  5  .   ,  

    ? 

:   (  )   3-   -

  –  321 ,, HHH ( . . 3.5).   –   -

 –   -    ( ). 

 
. 3.5.   { 321 ,, HHH }  

 

 ( )      (n=3): 

)()|()()|()()|()()|()( 332211

3

1
PAPPAPPAPPAPAP i

i
i . 

  1 (   ,     1-   ):  

38,0
73
28

252028
28)( 1P . 
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  2 (   ,     2-  ): 

27,0
73
20

252028
20)( 2P . 

  3 (   ,     3- ): 

34,0
73
25

252028
25)( 3P . 

        : 

25,0
28
7)|( 1AP ;     10,0

20
2)|( 2AP ;     20,0

25
5)|( 3AP . 

    ( )  : 

)()|()()|()()|()( 332211 PAPPAPPAPAP  

19,0068,0027,0095,034,020,027,010,038,025,0)(AP . 

:  ( )    ,      

   ,   0,19  19%. 

 3.6.     10 ,    , 

3   , 4 – , 2 –   1 – . -

       20 ,  -

 –  16,  –  10 ,  –  5 .  -

 ,           

 ? 

:   (  )   4-    – 

 4321 ,,, HHHH  (  . 3.6).  

 
. 3.6.   { 4321 ,,, HHHH }  

 

  –    –   ,  

     . ( ) –    -
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     (n=4): 

)()|()(
4

1
i

i
i PAPAP . 

      (    

)       :  

–  1 :   ,   ,  

  ( 1) = 3/10 = 0,3; 

–  2 :   ,   ,  -

  ( 2) = 4/10 =0,4; 

–  3 :   ,   ,  

   ( 3) = 2/10 = 0,2; 

–  4 :   ,   ,  

  ( 4) = 1/10 = 0,1. 

         -

        (  

   ).    :  

–      ,  -

 ,  ( | 1) = (20/20) (19/19) = 1; 

–      ,  -

 ,  ( | 2) = (16/20) (15/19)  0,63; 

–      ,  -

 ,   ( | 3) = (10/20) (9/19)  0,24;  

–      ,  -

 ,  ( | 4) = (5/20) (4/19)  0,053. 

    ( )  : 

)()|()()|()()|()()|()( 44332211 PAPPAPPAPPAPAP
   

( ) = 1·0,3+0,63·0,4+0,24·0,2+0,053·0,1  0,605  60,5%. 

:  ( )    ,    -

     ,   0,605  60,5%. 
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( )  ,      -  nHHH ,,, 21 ,  

   )|( 1AP , )|( 2AP ,  , )|( nAP   -

   .       -

  )|( AP   ,  ,     

  .         

(  · ) = ( ) · (  | ) = ( ) · (  | ). 

  

)(
)|()()|(

AP
APPAP ii

i .                         (3.8) 

  ( )     (3.7), -

  : 

n

i
ii

ii
i

HAPHP

APPAP

1
)|()(

)|()(
)|( ,                    (3.9) 

 n,,, 21  –   ,    . 

     « »10  

(  | )   « »11  ( ) « »  . 

 3.7.    3.6    -

    .   ,    : ) -

 ; )  ? 

:       (  -

  )       :  

–  1 :   ,   ,  

  ( 1) = 3/10 = 0,3; 

–  2 :   ,   ,   

 ( 2) = 4/10 = 0,4; 

                                                           
10 a posteriori ( .) –   . 
11 a priori ( .) –  . 
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–  3 :   ,   ,  

   ( 3) = 2/10 = 0,2; 

–  4 :   ,   ,  -

  ( 4) = 1/10 = 0,1. 

           

        

 (    ).    :  

–      ,  -

 ,  ( | 1) = (20/20) (19/19) (18/18) = 1; 

–      ,  -

 ,  ( | 2) = (16/20) (15/19) (14/18)  0,491; 

–      ,  -

 ,   ( | 3) = (10/20) (9/19) (8/18)  0,105;  

–      ,  -

 ,  ( | 4) = (5/20) (4/19) (3/18)  0,009. 

  : 

)  ,    ,  ,   

4

1

11
1

)|()(

)|()()|(

i
ii HAPHP

APPAP , 

  %5858,0
009,01,0105,02,0491,04,013,0

13,0)|( 1 AP ; 

)  ,    ,  ,  

%2,0002,0
009,01,0105,02,0491,04,013,0

009,01,0)|( 2 AP . 

:  ,         

 ,  58%,        

   0,2%.     -

,           

  –  58%    0,2%  -

  . 
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        -

      ,  -

,   . 

  m     ’ ,  -

    m .  Pm  ’ - , 

         -

,   :  

!mPm ,                                     (3.10) 

 m!=1·2·3·…·m –   m (  0!=1). 

,    '   a, b, c (m =3)   -

 3!=1·2·3=6,    : 

a b c ;  a c b ;  b a c ;  b c a ;  c a b ;  c b a . 

  n   m   ’ ,  -

  m ,   n .    -

 ,      ,  . 

 ’ -  An
m   : 

)1()2)(1( mnnnnAm
n        )!(

!
mn

nAm
n .    (3.11) 

,    '   a, b, c  (n=3)     

'  (m=2)   6232
3A ,    :  

a b ;   b a ;   a c ;   c a ;   b c ;   c b. 

  n   m   ’ ,  -

  m ,   n .  ’ -  -

      .   ’  n
m -

  : 

)!(!
!

mnm
nC m

n       !
)1()2)(1(

m
mnnnnC m

n .   (3.12) 

,   '   a, b, c  (n=3)     

'  (m=2)  : 
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3
121
321

)!23(!2
!32

3C ,  : a b ;  a c ;  b c . 

,  n
m (    n   m)   

An
m (    n   m)  Pm ,    

  :  

m

m
nm

n P
A

C .                                      (3.13) 

 3.8.   ,      

  -  « », « », « »  . .   -

  « »? 

:       -

     .     « » 

      6 .   

 n=6   Pm: 

Pm = n! = 6! = 1 2 3 4 5 6 = 720. 

     %14,00014,0
720
1)(AP . 

:     « »   -

 -   0,14%. 

 3.9.      « » 

   - ? 

:     « »   

   10 ,     

n!=10!=3628800.     (« » – 2 , « » – 3 -

, « » – 2 ),   ,    . 

  « »  ,      

2!=1 2=2;   « » – 3!=1 2 3=6;   « » – 2!=1 2=2.  

 ,      

m=2! 3! 2!=1 2 1 2 3 1 2=24. 
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     %0007,00000066,0
3628800

24)(AP . 

:       

 0,0007%. 

 3.10.    5 ,     -

    « »  « ».    

    1 ,  –  0 .  , 

 ,  ,     4-  ? 

:      –   4-   5-  

  5-  .    ( ) = (4)+ (5).  -

  ’   .   -

,     (1)    (0) -

      ½,  (1) =  (0) = ½ = 0,5.  

  : 

4  – (4)= (1) (1) (1) (1) (0) 5
4 = 0,55 5 = 5/32 = 0,15625 = 15,625%; 

5  – (5)= (1) (1) (1) (1) (1) 5
5 = 0,55 1 = 1/32 = 0,03125 =  3,125%. 

    ( ) = 15,625% + 3,125% = 18,75%. 

 :     ,  -

  5  ,  18,75% ( ,   -

   1 – 18,75% = 81,25%). 

 

. . 

1.    « », «  », 

«   », «   », «  ». 

2.      ,   -

? 

3.      ? 

4.         ( , 

, , , ). 

5.   «  »     ? 
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6.        ?  

7.         -

   . 

8.       ,  

,   ? 

9.       . 

10.    . 

11.   «  »? 

12.    . 

13.     . 

14.       3.1 – 3.9. 

 

 

3.2.    

   

  –  ,      

   (    )   . 

   -  (  ’  )  , 

        { }.  

     . 

     , 

      ,    -

.      -

,       . 

        -

     –   ,    

  1, 2, ..., n      p1, p2, 

..., pn ( . . 3.2),       ( . 3.7). 
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 3.2 

      

 (  ) 1 2 3 ... n 

 ( p  ) p1 p2 p3 ... pn 

 

 
. 3.7.    

    
 

      , : 

.,

;,

;,

;,

;,

;,

;,

)(

77

66

55

44

33

22

11

xXp
xXp
xXp
xXp
xXp
xXp
xXp

Xf  

       f(X) = P( = ) –  -

 f(X)   P( = ) ,      . 

    ,  ,   -

   1, 2, ..., n       

 ={ }.    1, 2, ..., n,   

  ,    ’   –  p1, 

p2, ..., pn,  p   = P(  = )  0,      -
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     :  

1
1

n
.                                         (3.14) 

,  { , }    ,  -

         ’   ,  

         (3.14).  

      ,  -

         -

 –        

.        

( .   ),     -

     , ,    -

   (     ). 

       . 

 3.11.       -

        

  20  ( . 3.3).   

 3.3 

    

 1 2 3 4 5 6 7 8 9 10 
x  4 2 6 3 5 4 5 4 1 5 
 11 12 13 14 15 16 17 18 19 20 

x  5 3 5 4 6 3 4 2 5 3 
 

 : 

    . 3.3     -

  mi  .    -

       A3: 9.    -

   ,  20
7

1
im  ( .  10 . 3.8);  

    p   = P(  = )    D3  
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=C3/$C$10,      D4:D9; 

    3: 9  p   = P(   );   

     ( . 3.9). 

  
. 3.8.   

  
. 3.9.    

   
 

,   . 3.8     

  (   ) p ( ) = P(  = )  p( ) = P(  ),  

. 3.9   .  

  p  = P(  = )     

  ( .  D . 3.8   . 3.9).   -

     p    -

    ,  P(  = ).   p     

    (      )  

,  1
1

n
.    . 3.8 ( .  D10),   

: 0,00+0,05+0,10+0,20+0,25+0,30+0,10=1,00. 

  p  = P(   )      ( . 

  . 3.6    . 3.7     -

  1,00).      p   

 ,      ,  P(   ).   

    p        

 , : 
j

jp
1

. ,  j = 4   4 
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 35,00,200,100,050,00
4

1
4p  ( .  6 . 3.6). 

    -      

  ( ,     )  

.  ,  j = n  1
1

n

np ( .  9 . 3.6 

       . 3.7). 

     ,   

’            

.      :  

   F(x) 

F(x) = P(X  x);                                    (3.15) 

     f(x)  

f(x) = P(X = x).                                    (3.16) 

     F(x)     

 . ,   . 3.8  F(x)  : 

;6,00.1

;5,90.0

;4,60.0

;3,35.0

;2,15.0

;1,05.0

)(

x
x
x
x
x
x

xF  

       f(x).  -

      ’  : 
j

ij xfxF
1

)()(                                   (3.17) 

      : 

–   f(x) = F '(x).  ,   f(x)   

    F(x); 

–    -    ' , -

 f(x)  0,    : 
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1)( dxxf .                                    (3.18) 

      -

 (3.18)   ( .    . 3.10),   

   f(x),   –     –   x  + . 

    (3.18)  .  

   F(x)    x ( , x = 

)     f(x)  : 

dxxfF )()( .                              (3.19) 

 
. 3.10.    

  (3.18) 

. 3.11.   

  (3.19) 

 

 (3.19)   F( )      ( . -

   . 3.11),     :  – -

  f(x),  –     –   x  ,    – 

,     x = .  

 x = +    F( )=1,  

1)()( dxxfF .                            (3.20) 

,        

 ,      ,   -
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        .  

     . 

 3.12.    ,   IQ ( -

       ) -

  ,   12,   -

  : 

2)/)((5,0

2
1)( IQxexf   2

2

2
)(exp

2
1)( IQxxf ,      

  f(x) –  P(IQ = x) ,  IQ   x; IQ    – 

      ;   

3,14;   2,71.       

IQ =100   =15.  

:     IQ   -

  IQ  = 50  IQ  = 150.    ,  IQ -

 : )  IQ  80; )  IQ >110; )   70 < IQ  90; ) -

     80 < IQ  120. 

: 

   f(x)     F(x) 

        10 ( . 3.10).  

     .   

    ,       -

  f(x)   .     14 

. 3.10,   .  

    IQ ( . 3.13).   

 f(IQ)   « ».      

 IQ =100.   F(IQ)     1,00. 

                                                           
12      .  3.4.  
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. 3.12.   IQ . 3.13.   IQ 

 

     ,   P(IQ  100) = 0,50.  -

,    IQ      -

 IQ =100  50%.  . 3.13    , 

  50%  .      : 
100

)()100( dxxfxF  = 0,50. 

       

    IQ. 

)    ,  IQ     80, 

 (IQ  80).      . 3.14,  

 F(80)  0,091 (  0,091    . . 3.12). -

   : 
80

)()80( dxxfxF   0,091. 

,  (IQ  80)  0,091 = 9,1%. 

)    ,   IQ   110,  

(IQ>110).   . 3.15  ,   -

  {IQ>110},      }110{IQ . 

     .   
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  (IQ>110) = 1 – )110(IQ       

      : 
110

)(1)110(1)110( dxxfxFxF  = 1 – 0,748  0,252. 

 F(110) = 0,748    . . 3.12.  

,  (IQ>110)  25,2%. 

 
. 3.14.  ,  IQ   

 80,    (IQ  80)  9,1% 

. 3.15.  ,  IQ  

 110,  (IQ>110)  25,2% 
 

)    ,  IQ     70, 

   90,  (70  IQ 90).   . 3.16 -

 ,    1{IQ  90}     2{IQ  

70}.   ( )      -

 ( 1)  ( 2)  1  2,  (70  IQ  90) = (IQ  90) – (IQ  70). 

       : 

)70()90()()()(
709090

70

FFdxxfdxxfdxxf ,  

F(90) – F(70) = 0,253 – 0,023  0,23. 

,  (70   IQ  90)  23%. 
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. 3.16.   

(70  IQ 90)  23%. 

. 3.17.   

(80   IQ >120) 18,2%. 

 

)    ,  IQ     

 80 < IQ  120,  (80  IQ >120).      

   . 3.17.     2-  -

: 

1-  .        1{IQ  80}  

2{IQ >120}   ( 1)  ( 2) .  

 ( 1)  1   

)80()(
80

Fdxxf ,   . . 3.12  F(80)  0,091.  

 ( 2)  2      

 }120{2 IQ   ( 2) = 1 – }120{2 IQ ,   

)120(1)(1)120(
120

FdxxfxF   

120

)(1)120(1)120( dxxfxFxF  = 1 – 0,909  0,091.  

 ( )       ( 1)  ( 2) 

 1  2,  ( ) = ( 1) + ( 2) = 0,091 + 0,091  0,182  18,2%. 

2-  .  {80 IQ >120}      -

    ,   {80 IQ  120} ( . -
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  . 3.17).  ( ) = 1–  ( ). 

 {80  IQ 120}    ( .  . « »), 

   1{IQ  120}     2{IQ  80}.  

 ( )      ( 1)  ( 2)  

( ) = (IQ  120) – (IQ  80). 

 ( )     

( ) = 1–  ( ) = 1 – [ (IQ  120) – (IQ  80)]. 

       : 

)80()120(1)()(1)(1
80120120

80

FFdxxfdxxfdxxf ,  

1– [F(120) – F(80)] = 1 – [0,909 – 0,091] = 1– 0,818  0,182  18,2%. 
 

,  ,  IQ       80 

 120,  (80   IQ >120),  18,2%. 

:        -

  ,  ( )     -

  , ,  ( ) = 2· (80   IQ) = 2·0,091  0,182  18,2%. 

      :  -

  ,   .  

,    3.12  ,    -

 0,05 (5%)   IQ    75,3.  

   F(IQ) . 3.18 ,   0,05 -

  ,     f(IQ)   

IQ = 75,3.  , F(IQ) = (IQ  75,3) = 0,05. 

     IQ,   -

 20%  0,20.   . 3.19 ,   0,20  -

 ,     f(IQ)   IQ = 87,4.  

 , F(IQ) = (IQ  87,4) = 0,20. 
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. 3.18.  0,05  

 IQ 75,3 

. 3.19.  0,20  

 IQ  87,4 

 

        -

 « »      .  -

 ,        -

,      0,01  (  1%).  –  -   

 – ,       . , -

 ’    30 (  5 = 30),  ,  5% 

     30.  

   F( ),      0  F(– ) 

 1  F(+ ),          

   .      F( ) 

 0,01 (1%),        

:  

  F(IQ) = (IQ 75,3) = 0,05 = 5%   5 = 75,3 – ’  

   ,      75,3; 

  F(IQ) = (IQ 87,4) = 0,20 = 20%   20 = 87,4 – -

    ,    87,4. 

        -

  MS Excel = ( ; ; . ). 

, 5 = (0,05;100;15) = 75,3;  20 = (0,20;100;15) = 87,4. 
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       -

  , (       ). -

     (   )   

 (   )      

  .     -

  ,        -

.        ,  -

       . 

 ,  ,   -

 .  ,  , ,  

    . ,   

 –      ,     

  -  .      

     : 

   X  Y,       -

 ,  ,   -     b -

 {X=a}  {Y=b}  ; 

    X  Y ,   b -  ,  -

  X+a  Y+b  ; 

    X  Y ,  f(X)  g(Y) –  -

,   X  Y     f  g,  f(X)  g(Y) – -

   . ,  X  Y ,   2  

3·Y +4 ,   ln(X )  ln(Y) . 

        

   ,    -

   ,   ,  -

’     .   ,   

  ,       

  , ,   , 
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.       -

 ,          « -

 » (   [X],  o[X]   d[X]),  

 « » (  D[X],   SD[X]) .  

 .      

       [X] (   -

    ). 

.       

)()(][ PXXM ,                          (3.21) 

 ( ) –    ,    ; ( ) – 

   ;  –    . 

 3.13.    ,    

   . 

:  

    6   { 1, 2, …, 6}.  

     .   

    1  6   :  X( 1) = 1, X( 2) = 2, ... X( 6) = 6. 

      ( 1) = ( 2) =... ( 6) = 1/6. 

     : 

5,3
6
21

6
16

6
15

6
14

6
13

6
12

6
11)()(][ PXXM . 

 :   [X]=3,5. 

     X   -

 ( )= {x1, x2, …, xn}   
n

XM
1

)(][ .                         (3.22) 

      . 

 3.14.     ,  -

   ,      -

.   ,  ,     
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      .  . . 3.20 -

  : x  –      ’  -

; m  –    ( mmi ).  -

       -

    . 

:  

   D ( . 3.20)       

 fi = mi/m,       (  = ).  

      . 

    ( . 3. 20)     ·fi. 

       ( . 3.21 ). 

  
. 3.20.    

   
. 3.21.   

    
   : 

00,444,0532,0412,0306,0204,0102,00)(][
1

n
fXM . 

 :     ,   -

 ,     [X] = 4,00   

    . 

    ,    F(x) -

   ' ,  f(x)   ,   

dxxfxF )()( .                                     (3.23) 
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dxxfxXM )(][ .                               (3.24) 

 3.15.     -

         [a, b]. 

:  

 . 3.22.        [a, b].  

  
. 3.22.    

    [a, b] 
. 3.23.    

    [2, 4] 
 

  M[X]      

  –    + ,   

dxxfxXM )(][ . 

   f(x)   [– , + ]  -

       : 

.,0

;,1
;,0

)(

xb

bxa
ab

ax

xf . 

   M[X]      
b

ab

b

a

a

dx
ab

xdxxdx
ab

xdxxdxxfxXM 1010)(][  

   
22

1
2

111][
222 abab

ab
x

ab
xdx

ab
dx

ab
xXM

b

a

b

a

b

a

. 
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:      
2

][ abXM .  

   [a, b], ,  a = 2  b = 4,  -

 3
2

24][XM .  . 3.23.     

     [2, 4]    M[X] = 3.  

 (      1, 2, …, n) -

       
n

i
ix

n
X

1

1
. 

        

( ,    M[X])   X )   

      ,  -

    ,   –    

  . 

        -

   :  [X]   Md[X]. 

.  [X]   X    -

,      13.    

        -

 . ,  . 3.21  ,   

 0,44   5. ,      [X] = 5,00. 

        

  X ( . 3.21),    ( -

),      – .   

       -

.        -

.       ’  . 

    [X],    ( . 3.24), 

                                                           
13         . 
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           -

      [a, b]. 

  [X]   X     

–  ,     .  

 
. 3.24.  [X]   -

    

. 3.25.  d[X]  

  (  d[X]) = ( d[X]) 

 

.    X     

d[X],        

  ,    d[X]    d[X],    

(  d[X] ) = (  d[X] ). 

     d[X] –    -

,   ,     ,   – 

    S1=S2 ( . 3.25).       

d      .   

        ( .  2.2). 

    : 

  X1, X2, ..., Xn –     (  X   

Xj   i  j ),       -

     

[X1 + X2 + … + Xn] = [X1] + [X2] + ...+ [Xn];      (3.25) 

       X1, 

X2, ..., Xn        
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[X1 · X2 · … · Xn] = [X1] · [X2] · ... · [Xn];             (3.26) 

        

M[a] = a;                                          (3.27) 

    X– M[X]   

M[X– M[X]] = 0;                                    (3.28) 

     X  Y      

  , a  b –  ,   

M[aX+bY] = aM[X] + bM[Y].                         (3.29) 

  .   , -

       . , 

      ( ) -

    .   -

        -

    ,   M[(X – [ ])2 ]. 

.      14 

]])[[(][ 2XMXMXD ,                                  (3.30) 

                                   2

1
][)(][ XMxfXD

n

i . 

 .3.26      –  

 f(xi) –   :   [ ] ( -

 9)   D[X] (  G9).  

 

 

                                                           
14         

s2. 
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. 3.26.   [ ]  D[X] 
  .3.27     -

 [ ]   D[X]    3.14,    -

 [ ] = 4,00 (  9)   D[X] = 1,00  (  G9).  

  ,      

   4,00,    50%   -

. ,         . 

  
. 3.27.      [ ]=4,00  D[X]=1,00 

 

 .3.28 ,     [ ] = 4,00  

D[X] = 2,32   ,    . 3.27.     

   .  

 

  
. 3.28.      [ ]=4,00  D[X]=2,32 

 

     . 3.27  3.28   . 

   ,   -

  -  : 

   –  ,   b –  , Y = a +b,   
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D[a +b] = a2D[X]                                   (3.31) 

(  ,          -

,    b –       ); 

  X1, X2, ..., Xn –     (  X   

Xj   i  j ),         

D[X1 + X2 + … + Xn] = D[X1] + D[X2] + ...+D[Xn].          (3.32) 

    (3.25)   (3.32) 

      ,  -

        

,     . 

     '     -

 –  . 

.      -

 '                        

  ][][ XDXSD .                               (3.33) 

,     ’   . 

         -

   –    (   ),  

   . 

.   k-      

   k-    : 

][~ k
k XMv .15                                (3.34) 

.   k-     

    k-       

   : 
k

k XMXMm )(~ ,                                (3.35) 

                                     k
k aXMm ][~ ,  ][XMa . 

                                                           
15          ,   
   ,     ˜ (« »). 
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     (    

   )   (    f( ))  

   . 3.4.  

 3.4 

      

    
  

 
n

i
i

k
ik pxv

1

~  dxxfxv k
ik )(~

 

 
n

i
i

k
ik paxm

1
)(~  dxxfaxm k

ik )()(~

 

         -

  :  

   (k=1)      -

 :  

][~
1 XMv .                                (3.36) 

   (k=2)   D[X]  

 : 

2

1

2
2 ][)(~ XDpaxm

n

i
ii .                    (3.37) 

   (k=3)    -

  :  
n

i
ii paxm

1

3
3 )(~ . 

        : 

Apax
m n

i
ii

1

3
33

3 )(1~
.                   (3.38) 

   (k=4)    

 .  
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n

i
ii paxm

1

4
4 )(~  

    : 

Epaxm n

i
ii 3)(13

~

1

3
44

4 .           (3.39) 

        -

      ( ., -

,  4  5). 

  ,      

  :  –     (  -

 ),  –    (    

).      . 3.5. 

 3.5 

       

      
1.   mi /n    
2.    fi    f(x) 
3.    

fi 
   

f(x) 

1)(
1

n
xf   

1
1

n

i
if  

1)( dxxf  

4.   Fj   F(x) 
j

ij xfxF
1

)()(   
j

i
ij fF

1
 x

dxxfxF )()(  

5.  X    [X] 
n

fXM
1

)(][   

i

ii

f
xf

X  
dxxfxXM )(][  

6.  Mo   [X] 
7.  d   Md[X] 
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 3.5  

8.  2
xs   D[X] 

2

1
][)(][ XMxfXD

n

i  
 

22 )(
1

1 Xxf
n

s iix  
2][)(][ XMxfXD  

9.    xs     ][XSD  
 2

xx ss  ][][ XDXSD  
 

,        

     –   ,   

    ’ . , , ,  -

    , ’    ,  , -

,      .  -

   –    ,      

     .   -

       ’   -

  .       -

 ,     .  -

     ,    

    (1654-1705),    

(1821-1894)    XIX .  

. . 

1.    . 

2.       ? 

3.      ? 

4.      ? 

5.  ’       f(x)    F(x)? 

6.     1)()( dxxfF . 
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7.  ,   
100

)()100( dxxfxF  = 0,50. 

8.        ? 

9.       ? 

10.       ? 

11.      ? 

12.      -

. 

13.       . 

14.     . 

15.     . 

16.        k-  

  ? 

17.        -

 ? 

18.       3.11 – 3.15. 

 

 

3.3.   16 

 

  
  ,   , – ,  ,  . 

          

  .      

      . 

    –  ,    

        -

.     ,      -

                                                           
16   «   »,      ( -

, ,     .). 
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,        , ,  , 

         . 

,     ,  . 

,     ,     

 « »  « ».     ,   

(   ) : P(« ») = P(« ») = ½ = 0,5. 

      , ,  

         

( ,  )    .   -

   .    -

        ,  . 

       

       ,    

( )    ( ) , 

   ?    ,    ? 

      ,    

 ,      
n
m  -

    p      . -

,          ,   -

    « »,     « ».  

,     ,      

     (    =0,5).  

     ,   -

     ,    -

, ,      ( . 3.6). 

 . 3.6 ,      n  -

     p
n
m  .       

    :     



 120

    ,     -

      .  

 3.6 

  
 

 
-

 
 

 
 

  
« » 

 
 

 
 

 
 

 

 
  

  

 
  

 
 
 n m 

n
m

 p p
n
m

 

   4 040 2 048 0,5069 0,5000 0,0069 
: 

   12 000 6 019 0,5016 0,5000 0,0016 

:  
   24 000 12 012 0,5005 0,5000 0,0005 

 

    '      -

 .   , ,  :  

  20   20  ,      

 ,       .   

  .       -

   ,  1/2 ( . . 3.7).  

 3.7 

   

     
    

 
    

4 1 3 0,33 
16 8 8 1,00 
64 28 36 0,78 
256 125 131 0,95 

1022 526 496 1,06 
4096 2066 2030 1,02 

 

 . 3.7 ,       

      . 
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   ,   
n
m      -

     ,    n  

.            -

      .  ,   

   ,       -

   : 

0
n

p
n
mP .  

,       ,    -

     .  ,  -

       -

     n   . 

 

  

  :  m –     n  -

 ,           -

,   -  >0   

2

)1(
n

ppp
n
mP .                         (3.40) 

             

       . -

       .  

       -

 n     .  

 3.16.  ,      

,  90%.    ,    

80%    .     -

  10%.     

:  
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     : 

 = 0,90 –   ,      ; 

 = 0,10 –    ; 

10,0p
n
mP =0,80 –    . 

      10%  -

   

10,0p
n
mP =1 – 0,80 = 0,20. 

        (3.40) 

20,0)1(
2n
pp . 

  ,   ,    

.45
01,020,0
10,090,0

)10,0(20,0
)90,01(90,0

20,0
)1(

22

ppn  

:  ,    80%   -

      10%,     45 . 

        -

       n.  

       .  

 3.17.    3.16    

  n        (0,1; 0,05; 0,01). 

: 

    n     (3.40)  

        . 3.29.  

   . 3.29 ( .  D  E),     

    n   2.  
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. 3.29.     n    

 

:         -

      ,    -

   .  

 

  
  :    1, 2, ..., n -

     C ,  D[X ]  C    = 1, 2, ..., n,   

-  >0   

2
2121 ][][][

n
C

n
XMXMXM

n
XXXP nn . (3.41) 

 (3.41)     

.1][11lim
11

n

i
i

n

i
in

XM
n

X
n

P             (3.42) 

,  ,      

 
n

i
iX

n 1

1       

 
n

i
iXM

n 1
][1     ,   1    

 ,  -  .  

        

       -

,          

M[ ]=    D[ ]=D.       

    



 124

n

i
i

n X
nn

XXX
1

21 1 , 

        

MXM
n

XM
n

X
n

MXM
n

i
i

n

i
i

n

i
i ][1][11][

111
, 

D
n
DnD

n
XD

n
X

n
DXD

n

i
i

n

i
i 2

1
2

1

1][11][ . 

  (3.41)   

2

][][ XDXMP                        (3.43) 

 

         2n
DMP .                         (3.44) 

 (3.44) ,        

 ( , , )     

      ][XM : 

][XMp .                              (3.45) 

,  (3.45)   ,      -

      .    

    ( .  4). 

 3.18.   ,      

          

   . 

:  

     : 

  ][M –        

    ; 

][SD   ][D  –      -

   ; 
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][3 SD  –    ][XM ; 

][XMP  –  ,      . 

    2

][][ XDXMP  . 

   ][][ DSD     = ][3 SD   -

  

9
1

][9
][

])[3(
][][

22 XD
XD

XSD
XDXD ,   

9
1][XMP  

     

][XMP  = 1 – 
9
1][XMP . 

  ,   ,     

89,0
9
8

9
11][XMP 17. 

:  ,      

           -

 ,   0,89   89%. 

           -

   ,       -

   ,     -

     . 

 

    

     .  

1.        –

 - . 

      X1, X2, ..., Xn 

   M[X ] =    D[X ] = 2 (  = 1, 2, ..., 
                                                           

17     , ,   -
    0,997 (      , .  3.4). 
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n)   

[X1 + X2 + … + Xn] = [X1] + [X2] + ...+ [Xn] = n ,         (3.46) 

D[X1 + X2 + … + Xn] = D[X1] + D[X2] + ...+D[Xn] = n 2 .       (3.47) 

   Un  

][][][
][][][

21

2121

n

nn
n XDXDXD

XMXMXMXXXU . 

   (3.46)  (3.47)   Un   

n
nXXX

U n
n

21 .                               (3.48) 

  Un   M[Un] = 0,   D[Un] = 1. 

  n   -      

)(lim 21 xx
n

nXXXP n

n
,               (3.49) 

 ( ) –     
x

dttx )()( ,                                      (3.50) 

 (t) –     

2

2

2
1)(

t

et .                                       (3.51) 

 ,  XnXXXX
n

i
in

1
21 ,   Un -

                    nX
n
nXnU n                             (3.52) 

  (3.48)       

)1,0(lim NxnXP
n

,                         (3.53) 

 N(0,1) -        

 ,  . 

         -

 .      ,     
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   ,      -

         .  

2.        

–  . 

      X1, X2, ..., 

Xn    M[X ] =    D[X ] = 2 0 (  = 

1, 2, ..., n)   Un    

n

i
i

nn
n

XD

XXXU

1

2121                       (3.54) 

  n   -      

)(lim

1

2121 xx
XD

XXXP
n

i
i

nn

n
,       (3.55) 

 ( ) –    . 

        

1 = 2 = ... = n =  ,  2
21

1
][ nXXXDXD n

n

i
i    -

    -  (3.49). 

    :    n  « -

 »,        -

    X   ,   . 

,         X  

     .    

 :  

    n ’  1, 2, …, n   

 (    n     30,  n 30); 

    
n

i
in

X
1

1 ; 
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  ( ., ,  5.4). 

   –     ,  

,      (   ) 

   ,   .  

  ,    ,     -

   :    (   

),       ;  -

 (     ),     

   ,      , 

  ,  lnX    .     

,          

,           

. 

 

. . 

1.       ,   

     . 

2.          ? 

3.     . 

4.     . 

5.     .     

 ? 

6.         

  (  - ). 

7.     . 

8.       3.16 – 3.18. 
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3.4.      

       ,   -

        

 (  )     . -

 ,      . 

 

 . 
        

     ( ,  -

   0,5).     , -

    .  

,     (   )   

    (   ),  ={ 1, 

2, …, n},  n = 6.        : 

 ( ) – « » (  «1»)   ( ) – «  

» (  «0»).     « » , 

   ,    .  

 ,      : 

(1)= (0)=1/2=0,5.      -

     ,  (1) = . : 

 (1) =  = 0,5 ;  

(0) = 1– (1) = (1– ) = 1 – 0,5 = 0,5. 

    (  ) m  -

  0 (   )  6 (    -

).   ,       n  

    m « »     , , 

n-m « »    (1–p).  

         -

      :  
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mnm pp )1( . 

       n   m -

  :             
)!(!

!
mnm

nC m
n . 

        -

    :  
mnmm

nn ppCmP )1()( .                           (3.56) 

        

–    .  . 3.30    

  n = 6, p = 0,5;  . 3.31 –    -

   .    ,  -

  –    .  

      -

 = (m; n; p; l),     MS Excel.  -

   ,  m –  ; n –  -

 ; p –  ; l – ,    

 (1 –  , 0 –    ). 

 
. 3.30.    

 (n = 6;  p = 0,50) 
. 3.31.   

 (n = 6; p = 0,50) 
 

        -

  . ,   « »  -

    , , 30%  0,3.  . 3.32  
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   n = 6, p = 0,3;  . 3.33 –  -

    . 

  
. 3.32.   

 (n = 6;  p = 0,30) 
. 3.33.   

 (n = 6;  p = 0,30) 
 

 « »       

  50%, , 70%  0,7.  . 3.34  3.35  

  n = 6, p = 0,7,     . 

  
. 3.34.   

 (n = 6;  p = 0,70) 
. 3.35.    

 (n = 6; p = 0,70) 
 

       -

        -

.    . 3.31, 3.33  3.35.  

       -

   : 
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   X = n · p;  

  )1(2 ppnsx ;  

   2
xx ss .  

 . 3.36        -

      . 

 
. 3.36.         

 

    . 3.36,  « »  (  = 0,5)  

  3  ,  « » (  = 0,3) –   1,8 

 ;  « »  (  = 0,7)  –   4,2 -

   6 .  

       

        

 .  

 3.19.   . 3.37     

 (    )      

  p(1) = 0,50   p(0) = 1– p(1) = 1–0,50 = 0,50.  
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. 3.37.      

 

   . 3.37,    «  » 

       «50/50».   

   ,       

 « »  ,  (1) > (0). 

        -

 (   , ,    -

)     (  )  *.  -

 *     (   ) 

    ,   (« »)  

     . ,  -

  « »    .  

:   *. 

: 

   *     

'    MS Excel   : 

          -

   , , 0,31    

   0,16 ( . . 3.38). 

   '    «  »,   

   ,    . 3.39; 
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. 3.38.      

         -

 – «  » ( . 3.40);  

  
. 3.39.   

«  » 
. 3.40.   

«   » 
     12 ’     -

 ,   0,72,      –  -

   .      

 ,       ( . 3.41). 

 
. 3.41.        
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:  « »   72% (  = 0,72)   

      (1– ) = 0,28.  -

    , , - ,    -

         

  , - , –     -

      . 

 

  
 . ,       

XVII- VIII .       .  -

         

          

      .   -

   ,     ( , -

  ,   20 000    5000  -

 « »)     . 

  XVIII .   (1667-1754)   -

     

2

2

2
)(exp

2
1)( xxf                            (3.57) 

  f(x) – ;    –    .  f(x) 

    .  

      
x

dttfx )()( .                                     (3.58) 

MS Excel   = (x; ; ; l),    

  ( ),    f(x)     .  l -

  :  l=0, = ()   ( ), -

 f(x).   . 3.42      -

  MS Excel = ()  = (). 
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. 3.42.     (n = 6; p = 0,5;  = 3;  = 1,22) 

 

 . 3.43  3.44     -

          -

:  (n = 6; p = 0,5;  = 3;  = 1,22)   (n = 10; p = 0,5;  = 5  

 = 1,58).        .  

 

 
. 3.43.      (n = 6; p = 0,5;  = 3;  =1,22) 

 
      , 

 ,       

   .  ,   

  n       

|b(x)-f(x)| /n  (  n = 6  0,54% ;  n = 10 – 0,24%).  
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. 3.44.      (n =10; p = 0,5;  =5;  = 1,58) 

 

       -

,           -

  –      ,   « » 

  ,    .  

    (3.56)    -

      « »,    -

 .     ,    -

          .  

 . 3.45      , 

         .  -

      .  
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. 3.45. '      

     -

  ,   , ,   

         -

.        -

,       = 0      = 1 

}
2

exp{
2
1)(

2zzf                              (3.59) 

      -

.     f(z),   (z)    

   18,  ’  , , 

 MS Excel = ()  = () ( . . 3.46).  

     : 

 ,       ,  1; 

       z        -

,   z   ,     ; 

      0,3989   -

   z ; 
                                                           

18  . .,  . .   . – .: , 
1965 (1-  .), 1968 (2-  .), 1983 (3-  .). 
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. 3.46.        

 

        -

,    z = 0,      ; 

          -

   (      z .  2.2 ) 

i
i

x
z ;                                     (3.60) 

    X 1  X2     -

 N( 1; 1)  N( 2; 2) ,    (X 1 + X2)   -

  );( 2
2

2
121N ; 

    X1, X2, ..., Xn       

  N( ; ),     
n

XXXX n21  

   )/;( nN . 

 ,        . -
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    ,   z     

,  1.   ,    ,  z   

   (    ),  1 (  100%).  

 ,  z    z1  z2,  

     ,     

.     (   =1)  z  

     ,  «z  

 –1   +1 »,  «z   –1  +1». 

  z  –1   +1   (     

  ± )  0,683 (   68,3%). 

  z  –2   +2   (     

  ± 2 )  0,954 (  95,4%). 

  z  –3   +3   (   )  

0,997 (  99,7%).     ,  99,7%   

(     )      ± 3 .  

    «   ». 

       -

?    ,    -

   ,     . 

     ’  . 

   ( ), ,   z  –1  

 +1  ,   3 : 

   1  z    –1     

= (–1; 0; 1; 1),    15,866%; 

   2  z    +1     

= (+1; 0; 1; 1),    84,134%; 

   = 2 –  1 = 84,134% – 15,866% = 68,269%  68,3%.. 

       -

  : «  z,     ». -

,    z,   – ,    5%? 
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       z,   -

  5%     ( . . 3.47).  

 
. 3.47.  N(0,1)   z 0,05  –1,64  

 

        

 . ,    -

 MS Excel = ( ; ; ),    z   -

 ,  ,   . ,  0,05,  = 0   

= 1  = (0,05; 0; 1)   z  –1,64485. -

  0,01 = (0,01;0;1)   z  –2,32635  . . 

   ,      -

   ,     ,  -   

 (   )      -

       . ,  -  -

   95%         

   (   ,  95%     -

   –1,96   +1,96  ( . . 3.48); 
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. 3.48.  N(0,1)   |z 0,025|  1,96 

 

       

      

 ,       . 

        -

    ,  ,  . -

      ,   -

   ( .  5.3). 

 

 « - »,     
       

  .      -

     -      -

.   ,        

 ,     ,     

 .  ,     -

       2 ( -

), t   F .   
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 2 ( - ) –     

X = X1
2 + X2

2 + ... + Xn
2,                                 (3.61) 

   X1, X2, ..., Xn       -

   N(0,1).   n  « -

  »  - . 

 t  –     

X
nUT ,                                          (3.62) 

   U  X , U    

 N(0,1),  X –  -   n  .   

n  «   »  . 

 F  –     

,
1

1

2
2

1
1

X
k

X
kF                                        (3.63) 

   1  2 –     -   

   k1  k2 . 

,  2 ( - ), t   F     

 .     . 

 2 « - »      -

,         -

  ( =0)     ( =1) -

    n  X1, X2, ..., Xn,   -

    (X1)2 + (X2)2 + …+ (Xn)2.    -

       n
2 ( - )  n -

 .      n
2  : 

2
1

2

2

2
2

1),(2

xn

n ex
n

nxf ,                               (3.64) 

 f 2 (x, n) –    2; n –   -
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; () – - ,     Excel   -

 =EXP( ()).  f 2 (x, n)>0  x  0  f 2 (x, n)=0  x<0. 

 . 3.49.        
2     (2; 3  5).  

 
. 3.49.      2  

 

   2    , , n=2 

 : 

   2  =1/EXP( (B$1/2));  

   3  =B2/2^(B$1/2);  

   5  =B$3*$A5^(B$1/2-1)*EXP(-$A5/2);  

   6: 15 –  . 

    D    2    

 n=3  n=5. 

   ,      n  2 

      n   -

 n2 .        n -

    X1, X2, ..., Xn, ,  

1
)(

1
1)(

1
1

2
22

2
2

1

2

1

22

n
XnXXX

n
XnX

n
s n

n

i
ix , 

  sx
2    2

n.  ,   2 -
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      ( .  5.4) . 

 t .     -

  ,    n  «  » –   

    .      

,  ,   «  ».     

 .      : 

2
1

2

1

2

2
1

),(

n

t n
x

nn

n

nxf ,                           (3.65) 

 ft(x, n) –    ; n –   

; () – - . 

 . 3.50.       -

 (1; 2  8)       .  

        -

 n=1  : 

   2  =EXP( ((B$1+1)/2));  

   3  =EXP( (B$1/2));  

   4  =B2/B3/ (B$1* ());  

   7  =B$4*(1+$A7^2/B$1)^(-(B$1+1)/2); 

   8: 19   ; 

    D       

  n=2  n=8.    –   -

 ,  , ,   7    

= (A7;0;1;0). 

      (1; 2  8)  -

    = (). ,   F7  

 = (ABS($A7);F$1;1),      

F8:F13.   F14  =1– (ABS($A14);F$1;1),  

    F15:F19.       G  H. 
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. 3.50.      N(0,1) 

 

      7   

= (A7;0;1;1),      8: 19. 

 . 3.51.        -

  (1; 2; 8),       

N(0,1).  

 

  
)   )  

. 3.51.       N(0,1) 
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 ,      n   

    .    

n  «  »,   n ,   

   .    -

      ( .  5.4).  

 F   ,    

,        

  ( =0  =1)      

 1   « - »    n,   -

     2   « - »  -

  m.   ,     -

,    

m
X

n
XF 21 .                                      (3.66) 

      

21
2

2
1

22

2),,(
mn

m
m

F x
n
mx

n
m

mn

mn

mnxf ,               (3.67) 

 fF (x, n, m) –    ; n  m –  -

 ; () – - . 

 . 3.52.         

     n  m (2  3; 5  4; 20  4 ).  

   , ,     -

 n=2  m=3  : 

   3  =EXP( ((B$1+B$2)/2));  

   4  =EXP( (B$1/2));  

   5  =EXP( (B$2/2));  

   6  =B3/B4/B5*(B$2/B$1)^(B$2/2);  

   7  =B$6*$A8^(B$2/2-1)*(1+B$2/B$1*$A8)^(-(B$2+B$1)/2);  
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   8: 18 –  7 . 

 
. 3.52.       

 

    D       

    n  m.  . 3.52. ,    

   n  m      

   m/(n–2).  fF (x, n, m)>0  x 0  fF (x, n, m) = 0 

  x <0.       ,  

        -

 ,    F-  : F=s1
2/s2

2,  s1
2  

s2
2 –      ( .  5.4).  

    « - »,   -

     . 3.8. 

    ,  ,  

-      , -

  ,    . ( .  5  6). 

          

   MS Excel, : = (), 

= (), = 2 (), = (), =F ().  
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 3.8 

  

  
  

t(x;n) 
-  2(x;n) 

 

F(x;n,m) 

 

 

2
1

2

1

2

2
1 n

n
x

nn

n
2

1
2

2

2
2

1 xn

n ex
n

21
2

2
1

22

2
mn

m
m

x
n
mx

n
m

mn

mn

 

-

 -

 
M[(n)] = 0 M[ 2(n)] = n 2n

m ] m)[F(n, M ,  

 n>2 

 2n
n ]  t(n)D[ ,  

 n>2 

D [ 2(n)] = 2n )4(2)n(m
)2(2m ] m)[F(n, D 2

2

m
mn , 

 m>4 

.  

. 
2n

n  [t(n)] ,  

 n>2 

2n  (n)][ 2  )4(2)(m
)2(2m

m)][F(n,
mn

mn
, 

 m>4 

 
 

As = 0 n
2  A

3
2

s  )2(6)(m
)4(82)m(2n

  s mnn
m

A ,  

 m>6 

 4
6

n
Es , 

 n>4 
n

Es
12

 8
)5.02)(6(3 2

n
AmE s

s ,  

 n>8 

 

. . 

1.     ? 

2.    « »  ?  

3.        -

 ? 

4.        -

        ? 

5.        

  . 
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6.    . 

7.    ,   « - »  

 ? 

8.       3.19. 

9.     8. 
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4.   

 

    
 

       -

       .  

       -

 ,     .  

 ,     

.    (   -

),     . 

      '   

   ,      

 '   .      :  -

 ;  ,    ; -

  .     -

   -    .  

       -

.        -

  . 

     -

     ,    

   ' . ,    100 ' -

     100000    -

 '  ( ),     99  ,  -

  '        k .  

       

     . ,   

     600    400 – -

 ,      100   -
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  (60%  40%)    .   -

 (  )      -

       . -

    ,      

     .  

        

.       ( ),  

  . ,     -

        -

 .        -

,       .  -

    (30-40 ),    

 8-10  .   ,    

,   –      . 

    (   )  

   .    ,  -

 -     ,       -

.          . -

         

  . 

       

   ,       -

      (   

)      ( .  3.3).. 

,        X   

 sx
2      (    

 2 ).      (N = ) 

     2      

M[X]   D[X]     . 

,   (  N)   (  n)  -



 153

     :   -

    « »,    – « -

» ( . 4.1). ,     -

       -

 . 

 4.1 

      

    
 : : 

   X  
 2 sx

2 
   sx 
  xy rxy 

 N n 
 

 ,   ~ –   ,  -

      . 

 ,      ,   

    ,     

 n    ( ,  1, 2, ..., n 

  ). ,  ~       

      ,    -

 n.  

 ,    -   

  ),,(~
21 nxxx ,     -

      )(X . 

         -

 ,       -

. ,       

(  )    : -

, , ,  ( .  2.2)    . -
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 « »        

.         -

 ,  :    n
~

   -

   ,      , 

     .  : -

         -

: 

min]~[ 2
nM .                           (4.1) 

    « » .  

      .  

 

 .    

       

    .   

        

  (     ).    -

    ,   -

  ,         -

.  

  ,   ,     

   ,  . ,  ,  

  ,     ,  -

  . 

     , -

, : 

 .   n
~

  ,   -

    ( n )     

 ,  .  n
~

    -
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 ,   -        

0}|~{|lim nn
P .                           (4.2) 

,   X     -

 ,      X    

   ( .  (3.45)).   

   . 

  ,      , -

       .   ,   -

           

 . ,   ,   

.     . 

 .   ,   -

   ,  .   X  

    ,  [ X ]= ,   

 , ,    .  -

    

][1][11][
111

n

i
i

n

i
i

n

i
i xM

n
xM

n
x

n
MXM .    (4.3) 

  s2       -

   .     -

   

2

11

22 ])[(])[((1)(1][ i

n

i
ii

n

i
i xMXxMxM

n
Xx

n
MsM  

n

i
ii

n

i
ii

n

i
ii xMXxMxxMXxMxM

n 1

2

11

2 ])[(])[(])[(2])[(1
 

2

1

2 ])[(])[(])[(2])[(1
iii

n

i
ii xMXnxnMXnxMXxMxM

n
 

]])[[(])][[(1])[(])[(1 2

1

22

1

2
i

n

i
iii

n

i
ii xMXnMxMxM

n
xMXnxMxM

n
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nn
n

nn
nn

n

2
222

2
2 1111

. 

,       

nn
nsM

2
222 1][ .                        (4.4) 

 ,  s2  2  . ’   -

 2/n,     n      -

,  n  .        

.    s2       

22

1
ˆ s

n
ns .                                    (4.5) 

 .    ,   

         -

 ,     . -

,        ( -

 X ,  Md    Mo )    -

 X    – Mo,     -

   222
MoMdX sss  [43, . 100].   

       

 ,     , 

  .  ,  ,    

         .  

 

    
     , 

      « »  -

      .    -

   19,     -

                                                           
19 ., ,  . .   . – ., 2006 

[37]. 
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 ,  ,  ,  

  « »,    « », « », -

    . 

  

   (  . )    

 (  vk   mk,    )  

    ( kv~   km~ )   -

 . ,       (2.13 

– 2.20 ),     –   (3.14 – 3.39). , 

      .   

  ,   . 

 4.1.      ,   

 ,   . 

: 

        

2

2

2

2

2
)(exp

2

1),;( xxf     : -

 1
~][ vXM  (3.36)   2

2 ~][ mXD  (3.37),    

     . 

    : 
n

i
ix

n
v

1
1

1
  2

122 vvm . 

     : 

2

11

22

1

11

1

n

i
i

n

i
i

n

i
i

x
n

x
n

x
n

                             (4.6) 

      ˆ    2ˆ   
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 22ˆ

ˆ

xs
                                               (4.7) 

 ,       -

 ,    ,       sx
2. 

     ,    

,      « ».  

       

  ,  . . 

 

   

     );(xL ,   

     1, 2, ..., n: 

),(),(),();,,,( 2121 nn xxxxxxL . 

        -

     n
~

,    

);(xL 20. 

 4.2.       

,    ,    . 

: 

         

2

2

2

2

2
)(

exp
2

1),;( ix
xf                       (4.8) 

   :     2,   .  

    
n

i
i

n

i
n xxL

1

2
2

1
2/2

2 )(
2

1exp
)2(

1),;( .  (4.9) 

   

                                                           
20 ., , .  [41, . 303-305]. 
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n

i
ixnL

1

2
2

2 )(
2

1))2ln((ln
2

ln .      (4.10) 

     2      

    ’    : 

n

i
i

n

i
i

nxL

xL

1
2

2
42

1
2

0
2

)(
2

1ln

0)(1ln

                       (4.11) 

   (  2>0)  

 
n

i

n

i

n

i
i

n

i
ii nxxx

1 1 11
0))( ,  

n

i
ix

n 1

1
,   

                                                       ˆ .                                                     (4.12) 

     (  2>0)    
n

i
i nXx

1

2
2 0)(1

,  
n

i
ix

n 1

22 )(1
,   

22ˆ xs .                                       (4.13) 

 ,      -

  ˆ    2ˆ    ,   

 ,         -

 2
xs .        -

     ,     -

 ,    .  

  ,  ,    

 .     ’   

  ,    ,      -

  « »      

 ,       -

. 

 

   



 160

        -

       ,  -

 . 

 4.3.     ˆ   

     . 

: 

       
n

i
ixu

1

2 min)( .                       (4.14) 

      u   -

 

n

i
ix

d
du

1
0)(2 ,  

n

i

n

i
ii nxx

1 1
0)(   

n

i
ix

n 1

1
.  

, ˆ .                                                              (4.15) 

 ,       

 ˆ         (   

       -

,    ).      

    ,    -

         -

 . 

 

  

     ,    ( -

      n),  (   -

  )   (     

),        . 

    ,      -

        ,   
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,       . 

    ,  21 

       .  -

  (2 )   ,   – -

   22.     -

   ,  ( – , +  ).  

       n (   

 n)      (    

  ).    n
~

   ,    -

   ,    -

.      .   

   ,     -

,     ( ).        -

 ,       

    ,       -

. 

       -

 ,  :   ,   1,  

 ( );   ,   0,  

 ( ).       -

.         -

. 

   «  »    

«  » .      :  =1– . 

   –    .  

         

                                                           
21 . , .   .      «  -

»,   « »,        
      [1, . 289; 41, . 320]. 

22         . [41, .. 
320]. 
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   –     ,    -

 .   (  ) –   «  -

»  ,     (  )  

       .  -

       

      ( . . 4.2). 

 4.2 

    , 

       z 

      
  

  z  z /2 
0,90   (90%    ) 0,10 (10%-     ) 1,28 1,64 
0,95   (95%    ) 0,05   (5%-     ) 1,64 1,96 
0,99   (99%    ) 0,01   (1%-     ) 2,33 2,58 
0,999 (99,9% ) 0,001 (0,1%-  ) 3,09 3,29 

 

         

:         

        -

    .  

   2  –   ,    

       . 

,          ( X –

)  ( X + ),   X      .  

  2         -

  (    )     .  . 

4.1        

     N(0,1). 

 ,      (   ) 

   2  ,     -

  .     -
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       : 

],[ XX ,                                      (4.16) 

 
n

sz x2/ ; X  sx –     ; n – -

 ;  z /2 –     ( . . 

4.2) ;  –   –  ,    

         . 

 

  
. 4.1.    2    =0 

 

 (4.16) ,       

   ( X – )  ( X + ).  ~
n

1 ,    

         n. 

 4.4.   80     X = 100  

  sx = 5,6.     -

        0,05. 

 : 

      z /2   

     MS Excel = (0,05/2),  -

  1,96; 
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23,1
80

6,596,12/

n
sz x . 

:    0,05     -

  100,0  1,23 .  ,    

95%         98,77  101,23.  

        MS 

Excel    = ( ; sx; n). ,   4.4, 

 = (0,05; 5,6; 80)     1,23. 

. . 

1.      . 

2.     . 

3.        ? 

4.   « »  « »? 

5.     . 

6.        ? 

7.      ? 

8.        ?  

9.        ? 

10.   «  »  «  -

».     ? 

11.        ?  

12.      4.1 – 4.4. 

13.     9. 
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5.     
 

5.1.    

       

   
   -     

    .    -

         

       .  

     : (Hypothesis). 

  « : 2=0,5»   : «  -

   ,    2     

0,5».      ( ),  -

 ( ),    . 

     .   -

      . -

,  « :        

 =0  =1»  ,   « :   -

    » – . 

      .  

    H0.     -

   . ,  «H0 : 1 – 2 = 0»  

: «          

1  2».  ,   –  ,    ,  

      .  

        -

  H1. ,      . -

,  «H1: 1 – 2  0»  : «   -

       1  2».  
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  –  ,    .   -

,       , -

,         . 

       :  

H0: 1 – 2 = 0; 

H1: 1 – 2  0. 

         

 .     .  

      . 

 ( )   : 

H0: 1  2     ( 1   2); 

H1: 1 > 2     ( 1        2). 

 ( )   : 

H0: 1 = 2    ( 1    2); 

H1: 1  2    ( 1         2). 

  ,      -

  ( ),   ;        -

   ( )  ,   .  

 ,        

   .  

      . -

       -

,       , , 

. ,      (   -

,        ), 

  .    0,   

1 –  ,      – 

.       0  1 – ,  -

     . 

      . 
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  –   ,   -

       . 

      ( 1, 2, ..., n) –  

    1, 2, ..., n.     

    .     -

      :    -

     ,     ( ), 

 – .      -

    ,      

, , t   t-  .  

        

    . ,   -

 t-  ,  |t |  |t | ,    -

       H0  (  -

  H1).     -

   .  

 
    

 

        -

  . 

      -

        , -

, ,  .     ,  z- , 

t-  , F-    .   

       , , -

,  .  -  - , U-  -

- -    .  

       -
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  ,      -

.          -

  ,           

.      ,  -

,  ,        -

 .        

,  ,     .    

  «  »    , 

   .    -

  ,      -

. 

     .  

         , 

   ,       

     ,     . -

      ,  -

     :     

 ,      , -

    .  

    ( )   

    ,  ,    

. 

 

  23 

   –   ,    

  (      -

),    . ,  ,   

  5%-   ,      0,05 

,      .   –   

                                                           
23 .   4 «  » 
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  ,    . 

  ,   -   -

      5%-   ( 0,05), 

 – 1%-   ( 0,01)   – 0,1%-   ( 0,001).   

      , -

    0,05  0,01,  0,001. -

       -

 (H0)        

(H1),       =0,05. 

 

    

       -

:        |  |  |  |, 

  0 24.  . 5.1 – 5.3   -

.        -

  -       

 .     -

  ( . 5.1  5.2),   –  ( . 5.3).  

  
. 5.1.   

  

. 5.2.   

 

 
                                                           

24 :    , , G-  , -
   U-  -    . 
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  ,      -

 ,            

,    . ,      -

    0 ,  |  |  |   |,  

  0 ,  |  |  |  /2 |. ,  -

   =0,05        0,05 

( . 5.1  5.2),    – 0,025  ( . 5.3). 

 
. 5.3.    

 

   , , t-  

  F-  ,     -

  MS Excel.     

  ,     , 

  –  .    -

    ,      . 

 

    
    . 

 1-   –     ,   

 .       (  -

). , =P{   | H0} –    {  },  ,  

  0 .    –  ,   

  (1– ).   ,    -
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  . 

 2-   –      H0 , 

  .   2-     . 

, =P{   | H1} –    {  },  ,  -

  1  (   0 ).  

   2-    (1– )   -

 . 

 . 5.1      .  

 5.1 

    

   (  )   

   0  0  

0     2-   

0   1-     

 

  –     ,  

     ,   -

.     . , 

      ,    

  ,      

.          -

,     ,  :    

 , , ,     ; -

       ;  -

 .      . 

 
    -  

   ( )   0 -

          -

  ,       . 
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    :   , 

    .   0 -

,          -

  ,   :    (   );  /2 (  -

 ). 

 5.1.       0  

 z-    .   z-

 z  = 2,19.    . 

: 

 , ,  MS Excel = ()  

  ,     z   -

   .  = (z )  

 1–   0,9857.     1–0,9857=0,0143  1,43%. 

    : 

 <0,05 (0,0143<0,05), H0     5%; 

 >0,01 (0,0143> 0,01), H0     1%; 

  

       
        -

  ’ ,     -  -

.          

    : 

        ; 

    ( , ,   .); 

       

        ; 

    .  

    .   -

    ,     

      : 
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1)   0  1    ; 

2)       

,      ; 

3)    ; 

4)   ; 

5)   ; 

6)     ; 

7)   ; 

8)   ; 

9)     ( ) ; 

10)   . 

        -

 .     ,    (  

 ),      .  -

          

 ,     .   -

  . 

 

. . 

1.    «  ».  . 

2.       ? 

3.      .  

4.       ? 

5.    . 

6.        ? 

7.       

 . 

8.        ( ) -

 ? 

9.        -
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   ? 

10.       -

   . 

11.       1-   2-  ? 

12.    «  ». 

13.       - ? 

14.     . 

15.       ? 

 

 5.2.        

 

       

   ,  .  ,   -

         

    .  -   -

 ,  ,     .  

 ,      ,  , 

     ,   -

 ,         -

.  

        -

 ,      :    [37, 

. 20].         

  -   .    

         

– , ,  .    -

  –  ,    . . 

         

         ,  

  .         -
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   . ,  -

 ,      

   . 

       

         -

.       -

, -   .     -  W, 

       [37, C 278].  

,      :   

, -   - .     -

         . 

 

     

        -

    .   

 ,  –   ( ) -

         

  .  

   N( , )      -

 2           

.       :  

0)(1
1

3
33

3
n

i
ii px

m
A ; 

 03)(13
1

3
44

4
n

i
ii pxmE .                  (5.1) 

,        

  « » –     .  

      

)3()1(
)1(6)(

nn
nAD ;          

)5()3()1(
)5()3()2(24)( 2 nnn

nnnnED .            (5.2) 



 176

,       -

    ,      -

.        ( -

  ),   :  

)(3 ADAx          )(5 EDEx .                     (5.3) 

      tA  tE 

)(
t A AD

Ax              
)(

t E ED
Ex .                        (5.4) 

       -

  tA  tE,    3  .  

 5.2.      

 (  :  . 5.4)    . 

 .  

  :  

H0:      ; 

H1:     . 

   .     

        tA  tE: 

A

x

m
A

At      
E

x

m
E

Et ,                                  (5.5) 

      –     ; mA  mE  : 

)3()1(
)1(6

nn
nmA ;    

)5()3()1(
)5()3()2(24

2 nnn
nnnnmE .        (5.6) 

    tA  tE ( . 5.4)   -

  ( . . 5.5).    ( )   ( ) 

  (2.12 )  (2.12 )     MS Excel 

= ()  = (). 

  .    tA  tE ( . 5.4) 

  3 (tA  0,47 < 3; tE  0,49 < 3),    -
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        -

 . 

 
. 5.4.  

 tA   tE 
. 5.5.     

    tA  tE 
 

         

      ( . . 

5.6),    . 

0,0

1,0

2,0

3,0

4 5 6 7 8 9 10 11 12 13 14 15 x

f

0,00

0,50

1,00

1,50

2,00

2,50

f 'f  -  f '  -  

 
. 5.6.     
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 ,        -

            -

 ,       ,   

        

        .  

 

  2 

 2       -

     .   -

    k     
k

i i

ii

np
npm

1

2
2 )(

,                              (5.7) 

 mi –    ,    -  -

; n –  ; pi –     -

  -  .  

   ,     

F(x),   pi   pi = F(x +1) – F(x ),  

)()()()()( 1

11

ii

xxx

x
i xFxFdxxFdxxFdxxFp

iii

i

.       (5.8) 

  k<<n i n
p

n

i i1

1
 ,   2    

   -   k–1  .  -

 0     ,  2 > 2 .  

 5.3.     2    

     5.2. 

 : 

  : 

H0:      ; 

H1:     . 
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   2      -

  mi     npi  (5.7). 

    2  (  -

  . 5.7,   –  . 5.8):   

 
. 5.7.    2  

      1: 11; 

    k    k=1+3,32 lg(n)  

   = (1+3,32*LOG( (A3:B11));0)    

D10   k=1+3,32 lg(18) = 5,2  5; 

   D11     =(xmax–xmin)/k  

  =( (A3:B11)- (A3:B11))/D10     2; 

    D3:E8   xi   xi+1  

   2.      

–  (  D3),     +  (  8); 

   F3:F8     mi  -

  = ().   mi   , 

 18; 

     pi   -  -

        F(x +1) – F(x ). 

        MS 



 180

Excel = ().      x  

      F10 i F11  ( : 

       

     );  

         . 5.8  

    2 ,   4,53 

 
. 5.8.     2  

 

    2      -

 = 2 (),        L9 i 

10 : 2
0,1  9,24   2

0,05  11,07. 

  .  2   4,53    

    =0,1 ( 2
0,1  9,24) ,   H0 . 

  :     -

      .  

       

 -  W. 

 

 -  W 

  W -   :  
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2

1
112 )(1 m

i
iinin xxa

s
W ,                        (5.9) 

 n –  ; 
n

j
xj nsxxs

1

222 )1()( ; 
n

j
jxx

1
; m –  -

 
2
n ;  1ina    n     . 1 . 

 5.4.    -    -

       5.2. 

 : 

  :. 

H0:      ; 

H1:     . 

     W (  -

  . 5.9,   –  . 5.10):   

   2:D11   ( )  (n–i+1),  i -

  1  m (m    n/2 = 18/2 = 9); 

 
. 5.9.   W-  -   
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   2: 11  9   . 1     

n=18; 

   F2:G11  xi i xn-i+1  « »,   -

  MS Excel = (),       

          ; 

   H2:H11   )( 11 iinini xxab ; 

   H12     – ( bi)2,  -

  (5.9),     H13 –  – s2 ; 

   W   H14  ( bi)2 / s2 = 0,891; 

    W18(0,05)   . 2 .  

n=18   =0,05    0,897 ( .  15 . 5.9). 

 
. 5.10.    W-  -   

 

     :  W<Wn( ), H0 -

   2 .  W  0,891     

0,897  W18(0,05),      -

   0,1. 

  .      

      -
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   0,1.  

 ,      (   , 

- , - )     : 

–          

     ,   . -

         ' -

      .  -

      ,    

   , , ,   -

  [49]; 

–       ,   

      . -

 ,      ;  

–  - ,    ,   .  -

      .   , 

   -     (k)   ( ) 

,     ,  npi  5; 

–     « »,    

   , ,  « - »,  

      ; 

         

(   x)    .     

(  sx)       ;  

–         

 -  W.        

     [37, .278]    -

     . 

 . . 

1.          -

 ? 
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2.     -     -

  ? 

3.        -

    . 

4.      (   

, - , - )      -

   . 

5.       5.1  5.4. 

6.     10. 

 

5.3.    

         ' -

,    ,    . -

,          

    .   -

          

      ( ' )  

 ( ' ) . ,      –  

        . 

     -  

  :    n1  n2     

  ,     F1(x) i 

F2(x)  .     ( ). 

     :  

0: F1(x) = F2(x); 

1: F1(x)  F2(x). 

     ( )  -

   .        

       -
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 .       -

   . 

 

  t   
   ’    -

   t,    :  

2121

2
22

2
11

21

11
2

)1()1(
nnnn

snsn

XXt ,                   (5.10) 

 1X   2X , 2
1s   2

2s , n1   n2 – ,       

 .  

   t         

  (n1+n2–2)      , 

     = ().  | t |  | t |,  -

  (  0   ) . 

 5.5.       0,05 

        ( -

  . 5.11   ).  

 : 

     : 

H0: 1 – 2 = 0    ( 1    2); 

H1: 1 – 2  0    ( 1         2). 

  :   ,   -

 ;  ' ;   ;  . 

      . 5.11  5.12. -

   t       : 

.77,1

20
1

18
1

22014
09,2)120(98,1)118(

90,372,4t  

   t     0,05    
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  = (),    t0,05  2,03 

 t- ,     .  

  .  t <t0,05,  1,77 < 2,04,  -

 H0     0,05.  

 

 
. 5.11. -

 t-  

. 5.12.   t-  

( '    ) 

  .    0,05   

    .     

,          

,      –  . 

         

  = (B27;B26+C26-2;2) ( .  29 . 

5.11  5.12   8,48%).  ,   H0 .  

,    : 8,48% > 5%,   ,   -
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 H0   . 

-         -

 MS Excel = ().   :  -

   .      H0  

   ,        1– ,  H0 

.   30   = (B3:B20;C3:C22;2;2)  

   ,    8,48% ( . . 5.11 

 5.12). ,     = 0,05(5%)  5%  8,48%  95% -

,    H0 .  

       -

      «  »  « -

 t-    » ( . 5.13). 

 
. 5.13.   «  » 

 

          

,    . 5.14,   « »   -

 t-  ( . 5.15). 
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. 5.14.   

«  t-    » 
 

 
. 5.15.   t-  

 

 t-  ( . 5.15)     

( , ),    ,    

    .    -

     .  
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 -   

 -  T      

   ,   . -

   : 

2
2

21
2

1

2121 )(

snsn

XXnn
T ,                                  (5.11) 

      .  , 

       -    

      0  -

 1,00.        

   -   :  |T |< z(1- /2),   

  (   )   -

  .       -

  0,05.      -  

     z =1,96. 

 5.6.       0,05  

     -  (    

   5.5).  

 : 

      . 5.16  5.17. -

   T      : 

77,1
09,22098,118

)90,372,4(2018T . 

       0,05   -

  = (1-0,05/2),    1,96.  

  .  < z0,05 (1,77<1,96),   

H0     0,05.  
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. 5.16. -

 T-  

. 5.17.   T-  

( '    ) 

 

  .    0,05   

    . 

 -       -

       ,  

 -    ,    

.  ,       t  

-  ,     H0   -

.      ( , 

- , - - , -   .), 

    ’     -

    .  
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 -   

 -       -

  F1(x) i F2(x)  .    : 

)()(max 21 xFxF ,                          (5.12) 

 F1(x) i F2(x) –     n1  n2.  

   ,      

   F1(x) i F2(x)   ( ),   

  .  -    ( -

) .   H0    ,    

  . 

 5.7.       0,05  

     -  (  

    5.5). 

 : 

  : 

H0 :      (    -

    ); 

H1 :      (    -

    ). 

    -    -

  . 5.18.   J     

  | F1 – F2 |,      

-  - :  

 = max| F1 – F2 | = 0,178. 

        . 5.19. 
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. 5.18.      

 

   -     0,05  n = 20 -

  . 3  0,05  0,294. 

 
. 5.19.       

  .     0,178 

    0,05  0,294,  0    

 0,05.  
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  .    0,05   

    . 

 

 - -  U 

  - - 25 U    

.  -    Y-    ’ . 

'   1, 2, ..., n1, y1, y2, ..., yn2 (n1  n2 –  ) -

  .    1, 2, ..., n1   

      R1, R2, ..., Rn1,  , 

  R1, R2, ..., Rn1.        -

  Tx:  

Tx = R1+ R2 + ...+ Rn1.                             (5.13) 

 -  U   

x
xx T

nn
nnU

2
)1(

)( 21 .                  (5.14) 

 Tx  U  ' ,         

–   - ,    –  - - 26.  

 -        ,  

.      U ,   

,   .      

,     -    

. 

 5.8.   U-     -

  (    )   -

  5.5). 

 : 

  : 

0:        ; 
                                                           

25      -  [17]. 
26      . 
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1:       .  

 
. 5.20.   « 1»   $ $3:$ $20 

     ( . 5.20  5.21): 

–  '  « 1»  « 2»  .    -

   MS Excel [  –> '  –> …].  -

  ( . 5.20)   '  « 1» ( '    ),  -

    ($ $3:$ $20 –  ).  '  

« 2»   3: 22   ; 

–    ,     ' -

 ,      (   

 n1 + n2).       «  1»  «  2»  

, , ,   D3  : 

=( ( 1: 2) + 1 – (B3; 1: 2; 1) – 

(B3; 1: 2; 0))/2+ (B3; 1: 2;1); 
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. 5.21.    U   

       D  E;  

    n1  n2.     24   

= ( 1),     25 –  = ( 2); 

–    1  2   .   26   

 = (D3:D20),    27 –  = (E3:E22); 

–   n      .   28 -

   = (B26>B27;B24;B25); 

–  x –    ( 1  2 )  .   24 

   = (B26>B27;B26;B27); 

–    U-   : 
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x
xx TnnnnU

2
)1()( 21 ,                        (5.15) 

  n1  n2 –  ; n  –      ;  x 

–     .     25    

=(B24*B25)+B28*(B28+1)/2-B29. U =128.00 ( . . 5.21). 

    U- .  . 4   

n1 =18  n2 =20,    = 0,05  U0,05 = 123.  

  .  U >U0,05 (128>123),   

H0    0,05. :  U-  0    

 U  > U  .  

  .    0,05  -

,         .  

  - -      

,    .     -

        -

.        -

  -  2.  

   

 -  2
n,m 

  -   -  -

      .    

 - - ,     ,  -

    Fn(x) i Gm(x), ’ .  '  -

    1, 2, ..., n, y1, y2, ..., ym   

Rx1, Rx2, ..., Rxn, Ry1, Ry2, ..., Rym.  

    0: Fn(x) = Gm(x)  -

  1: Fn(x)  Gm(x). 

  -    

)(ˆ)()(ˆ
2

2
, xHdxGxF mnmnmn .                (5.16) 
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 )(ˆ xFn   )(xGm  –      n  m, 

)(ˆ)(ˆ)(ˆ xG
mn

mxF
mn

nxH nnmn  –   ’  . 

       : 

3/2)(1)(16/11
1 1

222
,

n

i

m

j
jimn jS

n
iR

mnm ,        (5.17) 

 Ri –  x(i), Sj –  y(j)  ’   . 

   ( )  .   -

  
2
,mnmn

nm
   {z1- , },  0 -

.       . 5.2. 

 5.2 

 = 0,5 0,15 0,1 0,05 0,025 0,01 0,001 
Z 1-  = 0,12 0,28 0,35 0,46 0,58 0,74 1,17 

 

     (n, m  7)   

 

6/145/2
, DM

mn
nmZ mn ,                     (5.18) 

 mn
M 11

6
1

  mnmnmn
D 11

4
31111

45
1

. 

 5.9.    -   -

    (    5.5). 

 : 

  : 

0:        ; 

1:       .  

    ( . 5.22  5.23): 

–  '  « 1»  « 2»   ( .  U-

); 
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. 5.22.    2  

–   D  E    ,    

 '  ,      ( -

   n + m).      Ri  Si  

, , ,   D3  : 

=( ( 1: 2) + 1 – (B3; 1: 2; 1) – 

 (B3; 1: 2; 0))/2+ (B3; 1: 2;1); 

        D  E,  ;  
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. 5.23.    2 

       MS Excel [  –> 

 …]      F  G, -

   ;  

   2: 22    (Ri– i)2  (Sj–j)2; 

   23  23     (Ri– i)2  

(Sj–j)2 (); 

    n  m,  2 (5.17),  M, D  

Z (5.18),        Z  0,22. 

    Z1-   . 5.2   = 0,05.  

Z0,95 = 0,46.  
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  .  Z<Z0,95 (0,22<0,46),   H0 

   0,05,   ,    -

      .  

        . 

1)        -

  .       

 ,     ,      -

     .     

    -     

 .         -

 .        

  . 

2)   -    ,  -

  .   –   -

   .     

     - .  

3)         -

-  ,     n1, n 2  50,   

      n 5.   

    ( ) .  

4)  - -      -

   ,    -

   .      -

   ,     , 

,  -   - . 

,       -

  -   - .  -

       

- .  , - -   . -

      [49].  
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. . 

1.         

  ? 

2.       t? 

3.        

 - .  

4.          

 - ? 

5.    - -   - , 

       

6.       5.5  5.9. 

7.     11   12. 

 

 

 

5.4.      

 

      ,  -

 ,       

 . ,      

,      H0:  =   -

 H1:   ,  H2:  > ,  H3:  < .    -

   .  . 5.3   , -

         -

       . 
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 5.3. 

        

   
 

-
 

 
 

 
 

 
 

0 
H1:   0 | z | > z1-  
H2:  > 0 

2 
 nz 0  

H3:  < 0 
| z | > z1-2  

H1:   0 | t | > t1-  
H2:  > 0 

 H0:  = 0 
2 

 10 n
s

t  
H3:  < 0 

| t | > t1-2  

H0: 2  2
0 

2 > 2
/2 

 
2 < 2 

1- /2 
H0: 2 > 2

0 2 > 2  
 H0: 2 = 2

0 
 

 2
0

2
2 )1( xsn

 

H0: 2 < 2
0 2 < 2 

1-  
 

       -

        :  -

   (z- )     (t- ).  

     ,  –  

 (    ).    

 ,        

 
 

  (  Z,  ) 
  z- ,     

  : 

nz
2

0
,                                   (5.19) 

   2 –     ; 0  n –   

 . 

 5.10.       0,05  -

   40    ,   -

     4,0   0,4? 
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 : 

     : 

H0:   = 0; 

H1:    0. 

  :     -

;  2 ;     . 

    z-    . 5.24, 

      . 5.25.  

       0  3,88; 

  z-   

25,140
4,0
88,30,4z . 

   z-       

MS Excel = (1– ),       =0,05 -

  Z1-0,05  1,64 ( .  18). 

 
. 5.24.   

z-  
. 5.25.      

 z-  (   ) 
 

  .  | z | <  z1-0,05 ,  |1,25| < 1,64,  
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 H0     0,05.  

  .    0,05   

  ,      . 

       -

   ,    ,  

   z .      -

  = (z ),      0,11  

11% ( .  19).   H0     .  

       11% > 5%,  H0 . 

  MS Excel     

          

  =Z (),    1– .   -

  :  ,    -

    (     -

  ).  

  H0     ,  Z <1–

.   20  =Z (A2:D11;B15; (B16))   

  0,89  89% ( . . 5.24  5.25). ,   -

 0,05  89% < 95%   H0 . 

 
  (  t,  ) 

  t      -

       ,  

   . 

 5.11.    40  (  . 5.26) – 

       .    

  0,05 ,     -

    4,0 ? 

 : 

     : 



 205

H0:   = 0; 

H1:   > 0. 

  :     -

;   ;     . 

   .      

  t- : 

1
2

0 n
s

t ,                                   (5.20) 

  –   ; 0, s2  n – ,    

 . 

    t-  t    . 

5.26,   –  . 5.27.   t- : 

09,2150
45,0

00,420.4t . 

 
. 5.26.    

t-  
. 5.27.    

t-  (   ) 

 

    t-     -

  = (),       
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    df = n–1.    = 0,05 df = 50–1 = 49 -

 = ()     -

    : t0,05 2,01.  

 

  .  |t | > t0,05 ,  (2,09 > 2,01),  

 H0     0,05.  

  .    0,05  -

,        4,0 -

.          

 ( .  19 . 5.27).  

 

  (  2) 

        ,  -

    .    

        

. ,       

.  

 5.12.     ,     -

    0
2=0,25 (     . 6.24)?   

 : 

   : 

H0: 2 = 0,25; 

H1: 2  0,25. 

  :     -

;     . 

   .      

   2- : 

2
0

2
2 )1( xsn

,                                 (5.21) 
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 n –  ; sx
2 –  .  

     2    . 

5.28,     –  . 5.29.   -

 : sx
2=0,44.    2  : 

20,51
25,0

44,0)130(2 . 

 
. 5.28.  
2-  

. 5.29.    
2-  

 

    2      -

     ( /2)  (1– /2)  2,    

 ,     df = n–1.  2
/2    2

1- /2  

     MS Excel = 2 ().  =0,05  

df=29  : 2
0,025   45,72  2

0,975   16,05;  =0,01 – -

:  2
0,005  52,34   2

0,995   13,12.  

  .     0,05 2  -

    2
 > 2

0,025 > 2
0,975 (51,20 > 45,72 > 16,05),  
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 H0 .     0,01   H0 

,  2
0,005 > 2

 > 2
0,995,   52,34 > 51,20 > 13,12 

. 

  .    0,01   -

  ,     .    

  ,       MS 

Excel = 2 (),      = 0,007 -

 2. ,   H0      

=0,01,    /2   (0,01/2=0,005<0,007). -

    . 

 

     
(t-    '  )    
 

         

( ' )      t   

 5.3,  (5.10).   '  ,     -

 , ,  ’   –    -

,     t-  -

.    : 

n
s

dt
d

2
,                                        (5.22) 

 id
n

d 1  –  ; n –  ;  di = (xi1 – xi2) – -

 ; 
1

)( 2

n
dd

s i
d –   id .    

   ,    . 

 5.13.        0,05 (0,01)  

,          -

   ?     . 5.30. 

 : 
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  : 

H0: 1 – 2 = 0    ( 1    2); 

H1: 1 – 2  0    ( 1         2). 

  :     -

;   ;  ' ;    -

.  

   .     -

   t-    '  : 

n
s

dt
d

2
. 

     t    . 

5.30,     –  . 5.31.   -

 : 

87,311
47,0

27,02t . 

  
. 5.30.   t-

 

. 5.31.   t-  

( '  ) 
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     t-   

     = ().  -

   =0,05 (0,01)    df= n–1=11–1=10 -

   : t0,05  2,23 (t0,01  3,17). 

  .  t  > t0,01 (3,87 > 3,17),   

H0     0,01. 

  .    ,   

     ,     0,01.. 

     . 

 

     
(F-     '   ) 
 

     ,   

     .  

        -

   F,    : 

F = s1
2 / s2

2,                                       (5.23) 

 s1
2  s2

2–  . 

       ,   . 

 5.14.   ,    -

   . 5.32      ?  

 : 

  .     2
1  

2
,    ,    : 

H0: 2
1 = 2

2 ( 2
1    2

2); 

H1: 2
1  2

2 ( 2
1         2

2). 

  :     -

;  ' ;     . 

   .     
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F-  : F  = s1
2 / s2

2. 

   F    . 5.32,    

 –  . 5.33.   s1
2  1,54 s2

2
  0,70.   

  : F = 1,54/0,70  2,21. 

     F.     

       F    ( /2)  

 (1– /2)  F- , : F /2    F1- /2     df1 = n1 – 

1= 14–1=13  df2 = n2 – 1= 16–1=15,  

  
. 5.32.  

F-  

. 5.33.    

F-  (  ' ) 

        df1  df2  

        

=F ().   = 0,05  F0,025   2,92  F0,975   0,33;   = 0,01 
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  F0,005   4,18  F0,995   0,22. 

  .   F  2,21    

   (0,33 < 2,21 < 2,92),    H0. 

  .     0,05   

  ,       . 

        -

'          

   =F (B23;B22–1;C22–1),     28 

( . . 5.32  5.33).  ,   0,072 (7,2%).   H0 

     .        

 =0,05(5%)   : 7,2% > 5%.  ,   -

 H0   ,    . 

-        MS Excel 

= (B3:B18;C3:C18)/2,     29 ( . . 5.32  5.33). 

       -

,       .   

  .      H0 -

    ,        1– .  

       =0,05 (5%)  

5% 7,2% 95% ,   ,  H0 . 

        

   «  »  «  F-   -

» ( . 5.34).  

 
. 5.34.   «  » 
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       ,   

 . 5.35,   « »    ( . 5.36). 

 
. 5.35.    

«  F-   » 
 

 
. 5.36.   F-  

 

'       ( , -

),       F- ,  -

         .  
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(t-     '  ) 
 

      ,  -

      t, -

   : 

)1(
2

4 2
12

2
2

2
1

2
2

2
1

r
n

ss

ss
t ,                             (5.24) 

 s1
2  s2

2–  ; n –   ; r2
12 – -

   . 

     . 

 5.15.       n 

  (      5.37).  

 : 

  .     n  

    : 

H0: 2
1 = 2

2 ( 2
1    2

2); 

H1: 2
1  2

2 ( 2
1         2

2). 

  :     -

;  ' ;     . 

   .      

   t-  : 

)1(
2

4 2
12

2
2

2
1

2
2

2
1

r
n

ss

ss
t . 

         

. 5.37  5.38.   s1
2  1,60  s2

2  0,78,    -

    r2
12  0,17    

 MS Excel = ()  = ().    

 : 
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49,1
)17,01(

216
78,060,14

78,060,1t . 

 

. 5.37.  t-

 

. 5.38.   t-  

(  ' ) 

 

    .    -

    t    ( /2)  (1– /2) t-   

   df=n–2= 16–2=14, :  t /2    t 1- /2.   

 = ()   = 0,05   t 0,025   2,49  t 0,975   

0,03;   = 0,01  t 0,005   3,29   t 0,995   0,01  ( . 5.37). 

  .   t  1,49    

   (0,03 < 1,49 < 2,49),    H0. 
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  .     0,05   

,       . 

 

    3-      
(   q    ) 
 

      3-     -

   q.  

 5.16.      -

   '      . 5.39.  

 : 

  : 

H0: 2
1 = 2

2 = 2
3 (     ); 

H1: 2
1  2

2  2
3 (         ). 

  :     -

;    ;  '   ; -

    . 

  .      q: 

22
2

2
1

2
max

msss
s

q ,                                 (5.25) 

 s2
1, s2

2, …, s2
m –  ; s2

m  –  ; m – 

 . 

     q     

  . 5.39.    s2   -

  = (),     q    

16   = (B15:D15)/ (B15:D15),   -

   : 

44,0
87,056,109,1

56,1q . 

   q-       

. 5 .      = 0,05    -
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 1 = n–1 = 11–1=10  2 = m = 3   q0,05  0,60. 

  .  q < q0,05 (0,44 < 0,60)  -

  H0. 

. 5.39.  

  q 

. 5.40.    

  q 

 

  .    0,05   -

  ,       . 

         -

 q   .   ,    

     .  

 

    3-      
(   M    ) 
 
 

       

       .    -

        

.  
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 5.17.       

  '  '      . 

5.41.  

 : 

      : 

H0: 2
1 = 2

2 = 2
3 = 2

4 = 2
5 (     ); 

H1: 2
1  2

2  2
3  2

4  2
5 (         ). 

  :     -

;    ;  '   ; -

    . 

   .    -

   . 

M ,                                                (5.26) 

 ))lg(()(lg(3026,2 2

11

2
j

m

j
j

m

j
j snnsM ;   m –  ;  

  nj  
2
js –     (j = 1, 2, …, m);  

j

jj

n
ns

s
)( 2

2  –   ; 

 
)1(3

/1/1
1

m
nn

C jj  –  . 

     ( . 5.41  5.42): 

   3:L3  4:L4   nj    sj
2; 

   5:L5      

)lg( 2
js     =LOG10(); 

   6     s2,   

  : 

07,1
814161315

857,01476,11605,11392,01584,02s ; 
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   8  :  

95,1)814161315()0702,1lg()(lg( 2
jns ; 

   9  :  

24,0)24(825,01402,016)03,0(13)08,0(15))lg(( 2

1
j

m

j
j sn ; 

   10, 11  12   ,     : 

 =2,3026 (1,95–0,24) 3,92; 

03,1
)15(3

)814161315(
8
1

14
1

16
1

13
1

15
1

1C ; 

80,3
03,1
92,3

C
MM . 

 
. 5.41.     

    .  /  -

  2     df=m–1.   

   =0,05  df=5–1= 4     

= 2 ()   2
0,05  9,49. 
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. 5.42.       

 

  .   < 2
0,05   H0 -

    0,05. 

  .    0,05   -

   . 

 

. . 

1.     z- ? 

2.      ,   -

 MS Excel =Z (). 

3.     t-     

    ? 

4.     t-  ,  -

      ? 

5.         

  «  »  «  t-    

». 

6.         
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  MS Excel = (). 

7.       ? 

8.     F-  ,  -

       ? 

9.     t-  ,  -

       ? 

10.        ? 

11.         

 «  »  «  F-   ». 

12.         

  MS Excel = ().  

13.       5.10 – 5.17. 

14.     13 –  17. 

 

 

5.5.        

 

   ,     -

         , -

,       .  

     ,  ,   

,     .    -

, ,  -  H. 

  (« »)       

    ’     -

-  .     

,     .   -

  , ,   2
r ,  L. 
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 -   

 -  H     -

  ,   . .     -

.    ,       

    ,       . 

: 

0:   1, 2, 3  . .      -

  ; 

1:   1, 2, 3  . .      

 . 

 :    =0,05 ,   

  3-    = 3,        = 2;  =0,01 ,   

    3. 

 5.18.     (  %)  -

   «  » (  ,   

)     . 5.43.     

          

 «   »?     6 

  1-  , 5  2-      3-   4-  . 

 : 

  : 

0:       «  

 »     ; 

1:       «  

 »    . 

  :     ;  

 –  (  =4);  ' . 

    -   ( . 5.43): 

–  '  : « 1», « 2», « 3», « 4» ( -

    .   5.8); 
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–   : , ,     

MS Excel = (), = ()  = (); 

–       ,  '-

    .     « 1– 4» -

   . ,   F3  : 

=( ( 1: 2: 3: 4) + 1 – (B3; 1: 2: 3: 4; 1) – 

(B3; 1: 2: 3: 4; 0))/2 + (B3; 1: 2: 3: 4;1); 

       F:  (« 1– 4»); 

–   « 1– 4»   nj,   j  -

      = (), = ()  

= (); 

–   '   N = 6 + 5 + 4 + 4 = 19.    

 12   = (B9:E9; 

–     : 

50,1782/436/415/504/663 2222

1

2c

j j

j

n
T

T  (   13  

 =F10^2/F9+G10^2/G9+H10^2/H9+I10^2/I9); 

–     H-   : 

)1(3
)1(

12
1

2

N
n
T

NN
H

c

j j

j ,                       (5.27) 

   14  =12/B12/(B12+1)*B13-3*(B12+1)   -

  H =12/(19 (19+1) 2178,50–3 (19+1)=8,79 ( . . 5.43). 

    H-        5 

   ,   > 5   -

  2- .  =0,05  0,01      = 

c–l = 4–1= 3  2
0,05  2

0,01      

= 2 (),     15  16   : 

= 2 (0,05;3)  = 2 (0,01;3).  
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. 5.43.       

 

  .  H  > 2
0,05 (8,79>7,81),  H < 2

0,01 

(8,79<11,34),   H0      0,05 

     0,01.  

  .    0,05   

      «   » 

   .       (   

 0,05)  ,     

  . 

 

  2
r 

  2
r    , -

               -

 .  2
r    ,   

     ,       

.  

: 

0:  ,    ,   -
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 ; 

H1:  ,    ,   

. 

 :     n 2, 

       3. 

 5.19.  . 5.44     

   (   . . ).   

        ? 

 : 

  : 

0:     ,   

 ,    ; 

H1:     ,   

 ,   . 

  :     ;  

   = 4 ( 3);   n =10 (n 2);  ' . 

     2
r ( . 5.44): 

       (    

),     13   = (B3:B12). -

      13: 13; 

       -

 (   ),     

.     16     

=( ($B3:$E3) + 1 – (B3;$B3:$E3; 1) – 

– (B3;$B3:$E3; 0))/2+ (B3;$B3:$E3;1); 

 –         16: 25; 

   26: 26    Tj    ;  

   F16:F26         -

 (      10); 

   27: 28    n     -
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 = (A3:A12)  = (B3:E3); 

    29        

= (B26:E26);  

   30   =12/B27/B28/(B28+1)*B29–

3*B27*(B28+1),      2
r  -

:  

)1(3)(
)1(

12
1

22 cnT
ccn

c

j
jr ,            (5.28) 

  –  ; n –   . 

 ,     2
r  15,39. 

  
. 5.44.     2

r  
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    2
r-   =0,05  0,01  

 ,      n: 

–   = 3  n  9 –  . 7 ; 

–   = 4  n  4 –  . 8 ; 

–  >4  n>9 –    2- .  

 =0,05  0,01      = c–l = 4–1= 3   
2

0,05   7,81  2
0,01  11,34     Excel = 2 (), 

     31  32   : 

= 2 (0,05;3)  = 2 (0,01;3). 

 .  2
r > 2

0,01 (15,39>11,34),   H0 

    0,05  0,01 ( . . 5.44). 

  .     

,      ,   

    0,01.    -

     ,    -

   L. 

 

   L 

   L    , 

            -

. L-           

  .        , 

     ,      .  

: 

0:         

 ,       ;  

H1:         

 ,       . 

        ,  -

  .  
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 :       

 2  n  12,       –  3    6.  

 5.20.      -

            (  

  5.19)? 

 : 

  : 

0:      -

         ; 

H1:      -

         . 

  :     ;  

   = 4 (3  6);   n =10 (2 n 12);  ' -

. 

      L  ( . 5.45): 

       (    

),     13    = (B3:B12). -

      13: 13; 

       -

 (   ),     

.     16     

=( ($B3:$E3) + 1 – (B3;$B3:$E3; 1) – 

– (B3;$B3:$E3; 0))/2+ (B3;$B3:$E3;1); 

         16: 25; 

   26: 26    Tj    ;  

   F16:F26         -

; 

   27: 27     j: 1, 2, 3, …,  ; 

   28: 28       

   T*j    ; 
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   29  30    n     -

 = (A3:A12)  = (B3:E3); 

    31   = (B27:E27;B28:E28),  

    L     -

:  
c

j
jTjL

1

* )( ,                                     (5.29) 

  –  ; T*j –     ; j –  -

  .      L  = 

285,5. 

      L   =0,05  0,01 

  .9 .   =4  n=10   : 

L0,05 = 266, L0,01 = 272.  

  .  L  > L0,01 (285,5>272),   

H0     0,01 ( . . 5.45).  

  .     

,          

,   .   -

         . 
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. 5.45.   L  

 

 

. . 

1.      -  H? 

2.       2
r?  

3.        L?  

4.       5.18  – 5.20. 

5.     18   19. 
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5.6.      

 

    '      -

  ,   .  

   ’       -

    (      ), 

     r.    r -

   ,       -

 ,    r   ,   -

 ..  ,      

 ’      ,  0:  = 

0.   ( )     -

       n. 

 
    rxy 

  rxy        

  xy.      

 : 

)2/()1( 2 nr

r
t

xy

xy
r .                          (5.30) 

  0     ,   

 t-  (tst)     tr. 

 5.21.    '    

     ( )   (Y)  -

  ( . 5.46).  

 : 

    2: 13 ( . 5.46)    

'      Y     ( . 5.47);  
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  :

0

5

10

15

20

25

30

0 5 10 15 20 25 30
  

 

 
. 5.46.   

rxy  0,77; t-  tr  3,87 

. 5.47.    -

    (X)i  (Y) 

 

 ,   .   ,  ’  -

   ( . 5.47).       tr  

     rxy; 

   14     rxy  -

  MS Excel = (B2:B13;C2:C13).  rxy  +0,77 -

    '      Y; 

   15    tr    

=B14* (( (A2:A13)-2)/(1-B14^2))    tr  3,87;  

     t-    -

  = (),   t0,01  2,76.    

 17   = (2*B16; (A2:A13)-2).  

  :  tr >t0,01 (3,87>2,76),   -

. 

 :  rxy  +0,77,      -

 '          

 ,       =0,01. 
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    rs 

    rs   -

  '      ,    

.    rs   :  

)1(

)(6
1 2

1

2

nn

yx
r

n

i
ii

s ,                                 (5.31) 

: n –   ' ; (xi–yi) –   i-  ' . -

 rs      –1  +1. 

 5.22.     '    -

     (  X)    -

  (  Y).     . 5.48. 

  
. 5.48.   

    
 rs 

. 5.49.    
    

 rs 
 : 

     rs   : 

–   D4  =B4-C4,   –    D5: D15; 

–   4  =D4^2,       5: 15; 

–   16  = (E4:E15); 
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–   17  =1-6*E16/A15/(A15^2-1),   0,77: 

77,0
)112(12

6661 2sr . 

      rs.  -

 rs,        , -

'   t-  .   rs  0  n >10, -

     (n–2)   : 

)2/()1( 2 nr

r
t

s

s  . 

  18  : =B17/ ((1-B17^2)/(A15-2)),  

 t   3,81.    (n<10)  -  

     rs.  

   t-     =0,01  n=15.   

19   = (0,01/2;A15-2),   t   3,58. 

:  t  > t  (3,81 >3,58), -    -

    0,01.   rs 0,77   

  ' . 

 

      

   '   X  Y,     -

 1  0,    :  

)()( yxyx

yxxy

pnpnpp

pppn
,                           (5.32) 

: pxy –  ' ,   «1»   X,   Y;  px  py –  ' , 

  «1»  X   Y ; n  –   ' .  

 5.23.  ’       -

   .   . 5.50     Y: 1 – 

 , 0 –  .  

 : 
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        : 

–   15   = (B3:B14); 

–   16 –  = (B3:B14;"=1";C3:C14); 

–   17 –  = (B3:B14); 

–   18 –  = (C3:C14); 

–   19 –  =(B15*B16-B17*B18)/ (B17*B18*(B15-

B17)*(B15-B18)).      -

      pxy = 5, px = 6, py = 7  n = 12: 

51,0
)712()612(76

76512 . 

     .  ,  -

         

     ,  -

    z- : nz . 

   20  =B19* (B15)   z :  

76,11251,0z . 

 
. 5.50.     
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   z-   =0,05   z /2 -

   (0,025  0,975).   21  -

 = (1-0,05/2),    z   1,96.  

:  z <z  (1,76<1,96),    0,05  

 0 . ,     0,51   -

   '        -

  . 

 

-     rpb 

-    rpb   -

 ,       , -

,       ,   Y –  

   :  

)1(
0101

nn
nn

s
YYr

y
pb ,                               (5.33) 

  1Y   n1–    Y ' ,   1  X;  

    0Y   n0 –    Y ' ,   0  X;  

    sy –    n  Y;  n = n1 + n0 . 

 5.24.  '    « »  « » . 5.51 

 15  (  = 1  ,   = 0   ). 

 :  

    rpb : 

   3  = (A3:A12)   n = 10; 

   4  = (B3:B12)   n1=6; 

   5  =E3-E4   n0=4; 

   6  = (B3:B12;1;C3:C12)/E4   

   83,1671Y ; 

   7  = (B3:B12;0;C3:C12)/E5   
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   1540Y ; 

   8  = (C3:C12)    

 sy=11,35; 

   9     -  -

 =(E6-E7)/E8* (E4*E5/E3/(E3-1))     : 

63,0
)110(10

46
35,11

15483,167
pbr . 

 . 5.51    -  

  rpb,  . 5.52 –    . 

 
. 5.51.  

   rpb

. 5.52.     
 rpb 

 

     r b    

-  ( 0: r b = 0) ,     t-  

  (n–2)  : 

)2/()1( 2 nr

r
t

pb

pb .                                 (5.34) 

  t    10  =E9/ ((1-E9^2)/(E3-2))  

  t   2,29.  

   t-       

= ( /2; n–2).   =0,05  n=10   256  -

 = (0,05/2;E3-2),    t   2,75. 
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 :    t  2,29    

 t 2,75 -     . , 

  95% ( =0,05) ,      -

 r b ,      (0,63),    ! 

 

. . 

1.   ,    

    . 

2.   ,    

    . 

3.   ,    

     . 

4.   ,    

 -   . 

6.       5.21  – 5.24. 

7.     20 –  22. 



 239

6.   
 

   ,   -

     1920 .,    -

       .   

  ,      ,   -

 t-      .   

       . 

       

        . 

        ( -

)  ,       (  -

 ),   '     -

.    ,     -

        .  

 

   
 

      

         . 

       ,  

       ,   

.        -

        .   -

      -

       . 

       ( .  5). 

,       k  1, 2, ..., k. 

,     ,   k   

  .    Ai (   ) -
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 n  xi1, xi2, …, xin ( . . 6.1). 

 6.1 

    
 1 2  k 

1 x11 x21 … xk1 
2 x12 x22 … xk2 
… … … … … 
j x1j x2j … xkj 

… … … … … 
n x1n x2n … xkn 

 X1 X2 … Xk 
 

   . 

 2
is     (   )     

n

j

n

j
ijij

n

j
iiji x

n
x

n
xx

n
s

1

2

1

2

1

22 1
1

1)(
1

1
. 

 2
0s ,        

k

i

n

j
ij

k

i

n

j
ij

k

i

n

j
iij

k

i
i x

n
x

nk
xx

nk
s

k
s

1

2

11 1

2

1 1

2

1

22
0

1
)1(

1)(
)1(

11
. 

  2s  n·k   

k

i

n

j
ij xx

kn
s

1 1

22 )(
1

1
,      

k

i
ix

k
x

1

1
       

n

j
ijx

k
x

1

1
. 

, 
2

1 11 1

2
2

1
1

1 k

i

n

j
ij

k

i

n

j
ij x

kn
x

kn
s . 

 2s ,     ix     : 
k

i
iA xx

k
s

1

22 )(
1

1
. 

           -

  2s   2
0s .        
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,     2s  / 2
0s ,    

2s  / 2
0s  > F [k –1; k(n –1)], 

 k –1; k(n –1) –   F- , 2s  / 2
0s – F-  . 

 6.1.    ,    ' -

       (    . 8.1). 

 : 

  . 

H0:      ,  ;  

H1:     ,  . 

  :     -

;  '   ;    . 

    F     -

         .  

        . 

  : 

n = 6 –   ( ); 

k = 3 –   ( ); 

n k = 6 3 = 18 –    ; 

j –     1  n (j =1, 2, …, n); 

i –     1  k (i =1, 2, …, k). 

   ( .  6.1  6.2): 

–     13: 15   
k

i

n

j
ijxQ

1 1

2
1 ;              

k

i
iX

n
Q

1

2
2

1
 ;        

2

1
3

1 k

i
iX

kn
Q ,  

  

432555676 222222
1Q ;   421)232934(

6
1 222

2Q ; 

89,410)232934(
63

1 2
3Q ; 

–    F    16   
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21

32
2
0

2

1
)1(

QQ
QQ

k
nk

s
sF A ,  89,6

421432
89,410421

13
)16(3F . 

 
. 6.1.   

  
. 6.2.     

     
   F       

=F ()      = 0,05 (0,01)    -

 k –1 = 3–1=2  k(n –1) = 3(6–1)=15. F0,05  3,68  F0,01  6,36. 

  .  F  >F0,01 (6,89 > 6,36),   

H0     0,01.  

  .      (  

)   ,  .    

   . 6.3. 

                          

5,67

3,83

4,83

3

4

5

6

7

 '

 

 
. 6.3.     

    '  
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«  »  «   » ( . 6.4). 

 
. 6.4.   «  » 

    ( . 6.5)   -

    ( . 6.6). 

 
. 6.5.    

 

 
. 6.6.     (  = 0,05) 
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'   «  »    -

 ( , , ,     F-

 ),       . 

 

   
  

      ,  

        ' ,  

         . 

 ,          

    . ,    

        -

   . ,    

       ,    .  

    ,     ,  

        

,    ,    . 

   '     -

 .         ; 

         -

     ;    -

 :        -

   ;      

;    ,     

  '   - . 

 6.2.    4     

 ’         10 

       ( . 6.2).  
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 6.2 

   

     '  

:  1 1 2 1 1 2 2 2 
 –      

 –    
1 7 5 4 6 
2 5 4 3 4 
3 4 3 3 7 
4 7 4 4 5 

: 5,75 4,00 3,50 5,50 
 

     ,    

  ( )    '  ( )  -

:    '   '  , 

   –  ,    . 6.7. 

  ( 1)        ( 2)

5,505,75

4,003,50

3

4

5

6

 

 
 

 

  '
  '

 
. 6.7.     

      '  

 

 : 

  .    ,  

    ,    -

     ,         -

        . 
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1-   : 

H0(1):     ,    ,  

  ,     ; 

H1(1):     ,    ,  

 ,     . 

2-   : 

H0(2):     ,    ,  

  ,     ; 

H1(2):     ,    ,  

 ,     .  

3-   : 

H0(3):           

    ; 

H1(3):           -

    .  

  :     -

;  '   ;    . 

   .    -

 F- ,       :  

F  –   ,    ; 

F  –   ,    ; 

FAB –  ,    A  B. 

  : 

n = 4 –  '  (    ); 

l = 2 –   A; 

m = 2 –   B; 

n l m = 2 2 4 = 16 –   ; 

k –  '    1  n (i = 1, ..n); 

i –   A   1  l (j = 1,..l). 

j –   B   1  m (k = 1,..m). 
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   F  , FB  F B      

    ,    -

  ( .6.8  6.9)  

 
. 6.8.     

 

    : 

  11: 12    
n

k
ijkij x

n
x

1

1
( , 75,5)7457(

4
1

11x ); 

  D3:E10     ; 

  13: 13    (  ) 
l

j
iji x

l
x

1
*

1
( , 63,4)50,375,5(

2
1

1*x ); 

  D11:D12    (  ) 
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m

i
ijj x

m
x

1
*

1
( , 88,4)00,475,5(

2
1

*1x ); 

 

  D13:E13    
l

i

m

j
ijkx

ml
x

1 1

1
( 69,4)50,550,300,475,5(

22
1x ); 

       18: 22   

   ( . . 6.9): 
l

i

m

j

n

k
ijk xxQ

1 1 1

2
0 )(     = (B3:C10)*(B17-1); 

 
l

i
i xxnlQ

1

2
*1 )(        =B14*B15* (D11:D12;D13:E13); 

 
m

j
j xxnmQ

1

2
*2 )(     =B14*B16* (B13:C13;D13:E13); 

l

i

m

j

n

k
ijijk xxQ

1 1 1

2
4 )(   = (B3:C10;D3:E10); 

42103 QQQQQ      =B18-B19-B20-B22. 

      23: 26   -

   :  

)1(
12

1 l
Qs ;   )1(

22
2 m

Qs ;   )1)(1(
32

3 ml
Q

s ;   )1(
32

4 nml
Q

s . 

      23: 25:  

46,0
23,1
56,0

2
4

2
1

s
s

FA ;  05,0
23,1
06,0

2
4

2
2

s
sFB ; 44,11

23,1
06,14

2
4

2
3

s
s

FAB ; 

   F-       

=F         .  dfA = 

(l–1)=(2–1)=1, dfB=(m–1)=(2–1)=1, dfAB =(l–1)(m–1)=1  df2=l·m·(n–1)=12. ,  

    F  , F  , F AB    .  

  0,05   F(1,12)  4,75. 
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. 6.9.      

 

  .  F  < F(1,12) (0,46 < 4,75)  F  < F(1,12) 

(0,05<4,75),   H0(1)  H0(2) .    ,  

FAB > F(1,12)  (11,44 > 4,75),   H0(3)  . 

  .     ,  

     ,    ,  . 

            -

    .      0,05. 

       MS Excel 

«  »  «     ». 

     . 6.10    -

    ( . 6.11). 
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. 6.10.     

   '   

 

. 6.11.       
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,       '    

     .   -

 :    '     

' ,   –    ' . 

     , -

     . 6.7 – 6.11. 

 

. . 

1.      . 

2.     . 

3.  ,      -

  . 

4.  ,      -

  . 

5.     . 

6.       6.1 – 6.2. 

7.     23   24. 
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7.     
 

7.1.   

        

        -

  .  

  : , ,    

 ,   . 

   

    1.    

    2.    

    3.        

    4.   '  

    5.   

    6.  ’   

    7.    

    8.      

    9.   

   10.      

   11.    (1) 

   12.    (2) 

   13.    

   14.   2 

   15.     

   16.     

   17.     3-     

   18.      

  19.      

  20.      

  21.     



 253

  22.  -    

  23.     

  24.     

 

   1 
   

 :      . 

: ,  2.1,  2.2 – 2.3. 

:   ,     

       .  

3 5 4 4 2 6 3 5 4 4 
4 2 3 5 5 3 4 4 3 5 

 
   2 

   

 :      . 

: ,  2.1,  2.4. 

:   ,     

       .  

115 109 119 96 114 91 92 83 83 128 100 107 90 88 105 93 105 103 97 106 

112 104 116 85 106 89 102 95 102 92 112 89 78 83 92 77 97 120 114 89 

97 80 99 86 96 112 102 117 90 99 80 80 83 87 93 84 87 79 96 114 
 
   3 

     

 :       . 

: ,  2.2. 

:        : 

       : -

, ,  , , ; 
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      MS Excel; 

     «  »  «  ». 

6 7 3 2 5 5 7 3 4 4 2 8 
6 4 6 4 5 4 5 6 5 6 4 2 

 
   4 

  ’   

 :    ' . 

: ,  2.3,  2.7. 

:   ,   -

   r y   ,    

’ . 

 1 2 3 4 5 6 7 8 9 10 11 12 
 2 8 12 3 1 6 7 10 4 9 11 5 

Y 6 5 10 7 3 4 9 8 1 11 12 2 
 
   5 

  

 :    ' . 

: ,  2.3,  2.8. 

:   .   -

 .   

 1 2 3 4 5 6 7 8 9 10 11 12 13 14 
 10 10 10 10 10 14 14 14 14 18 18 18 18 22 

y  7 8 9 9 10 8 9 10 11 9 10 11 12 11 
 15 16 17 18 19 20 21 22 23 24 25 26 27 28 
 22 22 22 26 26 26 30 30 30 30 34 34 34 38 

y  11 12 12 9 10 11 8 9 9 10 7 9 10 8 
 

   6 

 ’   

 :   '  . 

: ,  2.3,  2.9. 
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 1:    '      Y   -

  (  K). 

    (  X)  
  

(  Y)   ’   
  

 10 43 7 5 
 42 14 25 6 
 51 11 10 33 

 
   7 

   

 :    . 

: ,  2.4,  2.10. 

:       (X)  

 (Y).  

 1 2 3 4 5 6 7 8 9 10 11 12 
 2 8 12 3 1 6 7 10 4 9 11 5 

Y 6 5 10 7 3 4 9 8 1 11 12 2 
 
   8 

     

 :      , -

    . 

: ,  3.4,  3.19. 

:       

 « »  mi =f (  )  : 

–    ; 

–    b(x; n, p)   n = 8   = 0,5; 

–    *    « » . 

 « »  xi 0 1 2 3 4 5 6 7 8 

 mi 0 20 42 78 60 40 10 3 3 
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   9 
  

 :      -

     . 

: ,  4,  4.4. 

:     0,01 (0,05)    

    (n = 40)   -

   . 

2 2 2 2 2 3 4 2 3 3 
3 1 5 3 3 2 2 2 2 2 
4 2 2 2 2 3 4 2 3 3 
1 4 3 1 2 2 2 2 2 2 

 
   10 

     

 :       

 . 

: ,  5.2,  5.4. 

:    -  W   -

      

16 4 4 5 6 3 4 10 11 8 
3 7 8 9 15 14 9 11 12 13 
 

   11 

   (1) 

 :       -

    . 

: ,  5.3,  5.7 – 5.8. 

:    -     

- -  U      -

 X  Y    (nx=18, ny=15). 
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5 4 6 6 3 5 9 12 8 X 7 8 9 15 14 9 11 12 13 
4 5 5 8 3 3 10 11  Y 6 7 8 13 10 9 12   

 

   12 

   (2) 

 :       -

    -   - . 

: ,  5.3,  5.9. 

:    -  2   

    X  Y    (nx=18, 

ny=15). 

5 4 6 6 3 5 9 12 8 X 7 8 9 15 14 9 11 12 13 
4 5 5 8 3 3 10 11  Y 6 7 8 13 10 9 12   

 

   13 
   

 :      -

  . 

: ,  5.4,  5.10. 

:       0,05  ,  -

  X    (n = 40,  )  -

    4,00? 

5 3 2 5 5 5 3 2 5 5 4 2 2 5 5 2 3 5 3 5 
5 3 5 3 3 5 4 2 4 4 5 4 3 4 5 3 4 5 2 5 

 
   14 

  2 

 :       -

 . 
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: ,  5.4,  5.12. 

 1:    ,     -

   (n = 26)      -

 1,44? 

4 5 4 4 4 5 4 5 3 3 5 4 5 
5 4 4 5 3 4 5 4 3 5 3 5 4 

 

   15 
    

 :       

( 1– 2)   ’    ’  . 

: ,  5.3,   5.5   5.4,  5.13. 

:       0,05   

  X1  X2       ’   ’  -

.  . 

   ’  
X1 24 38 24 38 35 19 25 22 31 28 
X2 23 45 54 34 48 46 47 39 23 45 

 
   16 

    

 :        

 ’    ’  . 

: ,  5.4,  5.14 – 5.15. 

:       0,05   

  X1  X2       ’   ’  -

.  . 

   ’  
X1 26 38 24 39 35 19 25 22 31 28 
X2 25 45 51 34 48 46 47 39 24 45 
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   17 
    3-     

 :       

 3-    . 

: ,  5.4,  5.17. 

:       0,05   

     X1, X2, X2  X4 ?   . 

   ’  
X1 12 30 25 39 36 21 28 18   
X2 24 40 44 35 47 38 41 22 35 20 
X3 30 45 41 34 48 33 35    
X4 20 27 38 44 42 50 38 29 26  
 

   18 
     

 :       -

    -  . 

: ,  5.5,  5.18. 

 1:      ’   

  0,01    . 

   ’  
X1 30 32 14 23 42 42 10  
X2 41 35 23 40 42 39   
X3 11 31 24 34 23 43 21 32 
X4 33 45 54 24 38    

 

   19 
     

 :     ( )   

    2
r     L. 

: ,  5.5,  5.19 –5.20. 

 1:     0,01   ( )  -

     .    
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  . 

   ’  
X1 34 23 43 34 23 43 12 33 43 34 
X2 40 35 23 42 42 39 34 35 23 42 
X3 24 38 24 38 35 19 25 22 31 28 
X4 23 45 54 34 48 46 47 39 23 45 

 

   20 

    

 :   '      . 

: ,  5.6,  5.22. 

 1:  '     Y    

   rs.  

i 1 2 3 4 5 6 7 8 9 10 11 12 13 
X 3 1 7 12 2 4 11 9 10 5 6 13 8 
Y 9 12 5 2 13 10 1 11 4 7 8 3 6 

 

   21 
    

 :   '     . 

: ,  5.6,  5.23. 

 1:  ’     Y   -

    .    . 

 1 2 3 4 5 6 7 8 9 10 11 12 
 0 1 0 0 1 1 0 1 0 0 0 1 

Y 0 1 1 0 1 0 0 1 0 1 0 1 
 

   22 

 -    

 :   '      . 

: ,  5.6,  5.24. 

 1:   '     

 X (1 – , 0 – )    Y  (  . .). 
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  -   . 

 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 
 0 1 0 0 1 1 0 1 0 0 0 1 1 1 0 

Y 3,5 4,2 3,8 4,0 5,0 4,1 4,0 5,1 3,8 3,6 4,2 4,2 4,8 5,0 4,1 
 

   23 

    

 :     . 

: ,  6,  6.1. 

:    (  7    )   

   .   '     

(  )     ' ?   « -

»      MS Excel «  ».  

     
1:  7 8 8 6 7 5 8 
2:  5 6 5 4 6 4 5 
3:  2 3 3 4 2 4 3 

 
   24 

    

 :     . 

: ,  6,  6.2. 

:      (   )  -

   ’         ? -

  « »      «  -

». 

  (  )   
(  ' ) A1 (  ) A2 (  ) 

B1 (  ) 9 8 6 7 5 3 3 4 
B2 (  ) 4 3 2 5 7 5 6 7 
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 7.2.   

(* –  ) 

1.     : 

 :  

 1)   ; *  

 2)   ;  

 3)   .  

2.      , ,  ? 

 :  

 1) ;  * 

 2) .  

3.      ? 

 :  

 1)     ;  

 2)     ;  

 3)       . *  

4.   –  : 

 :  

 1)      ;  

 2)       ' .  * 

5.     : 

 :  

 1) 1,00; * 

 2)   ' .   

6.     : 

 :  

 1)  ;  

 2)  . *  

7.     : 
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0

3
4

6 6

1 1
0

9

0

2

4

6

8

10

60 70 80 90 100 110 120 130 140  
 

 :  

 1) ;  

 2) ;  * 

8.     f*(x) ? 

 

0,05

0,12
0,13

0,11

0,06

0,02
0,01

0,12

0,08

0,11

0,03

0,16

0,05
0,13

0,25

0,38

0,88
0,94 10,990,97

0,66

0,54

0,77

0

0,05

0,1

0,15

0,2

18-
20

21-
25

26-
30

31-
35

36-
40

41-
45

46-
50

51-
55

56-
60

61-
65

66-
70

71-
75

 

f(x)

0

0,1

0,2

0,3

0,4

0,5

0,6

0,7

0,8

0,9

1
f*(x)

 
 :  

 1) ;  

 2) . *  

9.      F(x) ? 

.,04.0

;,14.0

;,32.0

;,48.0

;,02.0

)(

5

4

3

2

1

xx
xx
xx
xx
xx

xF  

 :  

 1)  ;  

 2)  ;  
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 3)  ;  * 

 4)  .  

10.         ? 

 :  

 1) ;  * 

 2) ;  

 3)  .  

11.    : 

 :  

 1) ;  

 2) ; *  

 3)  .  

12.        -

 ,     ? 

 :  

 1) ;  

 2) ;  

 3)  . * 

13.    ( 5, 4, 5, 3, 5, 4, 3, 5, 4, 5, 4, 3): 

 :  

 1) 3;  

 2) 4;  

 3) 5. * 

14.    ( 5, 4, 5, 3, 5, 4, 3, 5, 4, 5, 4, 3): 

 :  

 1) 3;  

 2) 4; *  

 3) 5.  

15.    ( 4, 5, 3, 5, 4, 3, 5, 4, 4, 3): 

 :  
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 1) 3;  

 2) 4; * 

 3) 5.  

16.    : 

 :  

 

1) 1

)( 2

12

n

Xx
s

i

n

i
x ; 

 * 

 

2) N

xi

N

i
x

2

12
)(

. 

 

17.     : 

 :  

 1) ; * 

 2) ;  

 3)  .  

18.     : 

 :  

 1) 2
xx ;  

 2) 2
xx ss ;  * 

 
3) n

ss x
X . 

 

19.     : 

   (3,3,4,4,4,5,5)    (3,4,4,4,4,5) ? 

 :  

 1)    ;  * 

 2)    .  

20.      : 

  (3,3,4,4,4,5,5)    (3,4,4,4,4,5) ? 

 :  
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 1)  ;  

 2)  ;  

 3)     .  * 

21.       f (x)? 

0

5

10

15

20

25

30

0 1 2 3 4 5

f)x)

 
 :  

 1) ;  * 

 2) ' ;  

 3) .  

22.        f (x)? 

0,00

0,05

0,10

0,15

0,20

0,25

0,30

0,35

0 2 4 6 8
x

f(x)

 
 :  

 1) ;  * 

 2) ' ;  

 3) .  

23.      BA : 

 :  

 1) ; * 

 2)    .  
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24.      B =  \ : 

 : 

 1) ; * 

 2) .  

25.      =B: 

 : 

 1)    ;  

 2) . * 

26.      : 

 :  

 1) ' ;  

 2) . * 

27.      : 

 :  

 1) ' ; * 

 2) .  

28.    : 

 :  

 1) ;  

 2) . * 

29.    : 

 :  

 1) ; * 

 2) .  

30.          

 ? 

 :  

 1)       ; * 

 2)   .  
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31.  « »  4,  « »  16.  -

 « » ? 

 :  

 1) 0,25;  

 2) 0,20. * 

32.      ? 

 :  

 1) ( ) 0  -  ;  

 2) ( ) 1; * 

 3) ( 1 2 3 ...) = ( 1)+ ( 2)+ ( 3)+...  ( i j = Ø, i  j).  

33.     : 

 :  

 1) ; * 

 2) .  

34.   ·       : 

 :  

 1) )()()( BPAPP ; * 

 2) 0)(P .  

35.   ·       : 

 :  

 1) )()()( BPAPP ;  

 2) 0)(P . * 

36.   +        : 

 :  

 1) )()()()( BAPBPAPP ; * 

 2) )()()( BPAPP .  

37.   +        : 

 :  

 1) )()()()( BAPBPAPP ;  
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 2) )()()( BPAPP . * 

38.           ? 

 :  

 1)   ; * 

 2)   .  

39.     nHHH ,,, 21     ? 

 :  

 1)  ;  

 2) - . * 

40.          -

 )()|()(
4

1
i

i
i PAPAP ? 

 :  

 1) 2 ;  

 2) 3 ;  

 3) 4 . * 

41.    (  | ) –     ? 

 :  

 1) ;  

 2) . * 

42.  ’ -     4-  ? 

 :  

 1) 6;  

 2) 12;  

 3) 24. * 

43.  ’ -      ,  

  ? 

 :  

 1) 6;  

 2) 12; * 
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 3) 24.  

44.      4-    2 ? 

 :  

 1) 6; * 

 2) 12;  

 3) 24.  

45.      ? 

 :  

 1)   ; * 

 2)   .  

46.      p  = P(  = ) ? 

 :  

 1)   ;  

 2)    . * 

47.      p  = P(   ) ? 

 :  

 1)   ; * 

 2)    .  

48.     ? 

 :  

 1)  F(x) = P(X  x);  

 2)  f(x) = P(X = x). * 

49.        ’  -

 
j

ij xfxF
1

)()( ? 

 :  

 1)   ; * 

 2)   .  

50. 
      dxxfF )()( ? 
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 :  

 1)  ; * 

 2)    f(x)   .  

51. 
  :

80

)()80( dxxfxF  = 0,091? 

 :  

 1) 0,091 –   ,     80;  

 2) 0,091 –   ,      80. * 

52.     IQ    ,  -

  IQ 70  90? 

 
 :  

 1)  (70  IQ 90) = 0,253;   

 2)  (70  IQ 90) = 0,276;  

 3)  (70  IQ 90) = 0,230. * 

53.       10 = 20? 

 :  

 1) 10%      20; * 

 2) 20%      10.  

54.     ? 

 :  

 1) M[X– M[X]] = 0;  

 2) M[X– M[X]] = 1. * 

55.   –  ,   b –  , Y = a +b,   -
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      ? 

 :  

 1) D[a +b] = aD[X]+b;  

 2) D[a +b] = a2D[X]. * 

56.        

)1,0(lim NxnXP
n

? 

 :  

 1)  ;  

 2)  ;  

 3)   . * 

57.    : 

 :  

 1) mnmm
nn )p(pC)m(P 1 ;  

 
2) 

2

2
1

2
1),;(

x

exf . 
*  

58.        : 

 :  

 1)   ;  

 2)   . *  

59.         …  

 :  

 1)    ;  * 

 2)    .  

60.       : 

 :  

 1) nsx / ;  * 

 2) ns x 2/ ;  

61.    : 
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 :  

 1)    ; *  

 2)    .  

62.    : 

 :  

 1)    ;  

 2)    . *  

63.        ( n ) -

     ,   : 

 :  

 1) ;  * 

 2) .  

64.     : 

 :  

 1) ; *  

 2) .  

65.      ? 

 :  

 1)  ;  

 2)  d;  

 3)  X . * 

66.          -

 ? 

 :  

 1)  =1– ; *  

 2)  =1– 2;  

 3)  =1/ .  

67.          

   ? 

 :  
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 1)     ;  * 

 2)    ;.  

 3)        .  

68.     t      -

  
n
st

X x ? 

 :  

 1) t –   ;  

 2) t –    . *  

69.         -

    ? 

 :  

 1)     ;  

 2)     . * 

 3)        .  

70.        

H0: 1  2     ( 1   2); 

H1: 1 > 2    ( 1        2) 

 :  

 1)  ;  * 

 2)  .  

71.         

(   ),   :  

 :  

 1)  ; *  

 2)  .  

72.        -

  ? 

 :  
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 1) ; *  

 2) .  

73.     ? 

 :  

 1)   –   ,     , 

    ; 

 

 2)   –   ,     ,  

   . 

 * 

74.    ,    , -

 : 

 :  

 1) 1-  ;  * 

 2) 2-  .  

75.    ,    , -

 : 

 :  

 1) 1-  ;  

 2) 2-  .  * 

76.       -

:  

 :  

 1) 1-  ;  

 2) 2-  . *  

77.     : 

 :  

 1)  ;  * 

 2)  .  

78.       -

    ( 1 – 2)   ,  

      ? 
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 :  

 1) t-  ; * 

 2) F-  ;  

 3) 2- .  

79.         
2? 

 :  

 1) t-  ;  

 2) F-  ;   

 3) 2- . * 

80.        ? 

 :  

 1)    ;  

 2)  -  W; * 

 3)  - .  

81.        ? 

 :  

 1)   t;  

 2)  -  T. * 

82.         -

 ? 

 :  

 1)   t;  

 2)  -  T. * 

83.        -

 ,    : 

 :  

 1) n1, n 2  50; * 

 2) n1, n 2  50.  

84.        ? 
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 :  

 1)  - -  U;  

 2)  -  T.  

 3)  -  2. * 

85.   2   : 

 :  

 1)     ; * 

 2)      ;  

 3)     ,   

  . 

  

86.  -  -    : 

 :  

 1)     ;  

 2)     ;  

 3)    ,    -

  . 

*  

87   '    ,   

   (x  y) : 

 :  

 1)   ;  

 2)      ;  * 

 3)        .  

88.           

   ?  

 :  

 1)  -  H;  

 2)    L. * 

89.       ,   

         ,    -

 ? 



 278

 :  

 1)  -  H;  

 2)   2
r. * 

90     '  ,  -

        ? 

 :  

 1)   ( ); * 

 2)   ( ).  

91.       '  -

 ( )   ( )? 

 :  

 1)    –1  +1;  

 2)      0  +1. *  

92.     '  ,    :  

 :  

 1)  ' ;  

 2)  ' . *  

93.      ,  

 :  

 1)     ’ ;   

 2)   ,    . * 

94.      

 :  

 1)   ;  

 2)   ; * 

95.       ?  

 :  

 1)    –1  +1; *  

 2)      0  +1.  

96.       0,67,   -
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  ? 

 :  

 1)      ’ ;  

 2)        -

  . 

* 

97.  X     ,   Y 

–     ,  : 

 :  

 1)     – rpb; *  

 2)     – rrb.  

98.         

? 

 :  

 1)    t;  

 2)   - ;  

 3)    F. * 

99.          

 ? 

 :  

 1)   3-       2-   

 ; 

* 

 2)   3-       3-    

 . 

 

100.     ? 

 :  

 1)       ;  

 2)     ;   

 3)         . * 

 



 280

7.3.    

 

  1:       

        

(),    «  » MS Excel.  -

    ,    . 

2 3 2 2 2 4 2 2 2 2 3 4 2 3 3 2 4 2 2 4 
3 3 5 3 3 1 4 3 4 2 2 3 2 2 2 2 3 3 3 2 

 

  2:      -

    .    , -

   . 

40 60 64 40 42 48 41 17 42 22 44 53 61 59 37 51 51 23 51 45 
63 50 52 53 60 50 61 39 61 51 18 33 18 38 43 57 52 54 64 61 

 

  3:         -

   MS Excel,    «  ». 

5 4 2 2 4 2 2 3 2 2 4 2 3 3 2 3 2 2 4 
3 5 2 3 5 4 2 3 4 3 5 2 2 2 2 3 4 3 5 
 

  4:      (  22, 21, 20  25 

)   6, 5, 3  4  .   

,      ? 

 

  5:    ,    , 5  

 , 7 – , 2 –   1 – .  -

      25 ,   –  

20,  –  15 ,  –  10 .   , 

         ? 

 

  6:     4   , 6 – 

, 3 –   2 – .     -
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   20 ,   –  16,  –  10 -

,  –  5 .      2 -

 .   ,    : )  -

; )  ? 

 

  7:      « »  

  - ? 

 

  8:      0,01  0,05   

     . 

2 2 2 2 2 4 2 2 2 2 3 4 2 
3 1 5 3 3 1 4 3 1 2 3 4 3 
 

  9:        

      -

 . 

2 3 4 3 2 4 2 5 2 4 3 4 2 3 3 5 4 2 2 4 
3 3 5 3 3 1 4 3 4 2 2 3 4 2 5 1 3 3 3 2 
 

  10:      0,05   

     4,50? 

5 3 5 3 3 5 4 2 4 4 5 4 3 4 5 
4 2 2 5 5 2 3 5 3 5 3 4 5 2 5 

 

  11:      0,05  -

  '   X1  X2 ? 

 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 
X1 3 4 4 5 5 5 5 5 6 6 7 4 4 6 3 
X2 3 3 3 4 4 4 4 4 5 5 5 5 4 3 4 

 

 

  12:      ' -

  X1  X2    0,05. 
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X1 X2 
3 3 5 3 3 3 3 5 3 3 
4 2 2 2 2 4 3 3 3 3 
1 4 3 4 2 3 2 3 5 4 
2 3 2 2 2 3 3 3 3 3 
2 4 2 2 4 3 3 3 3 4 
 

  13:      -

    0,05    .  

 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 
 1 7 14 3 1 6 7 10 4 9 11 5 3 10 9 12 

Y 5 6 10 7 3 4 9 8 1 11 13 2 8 1 2 4 
 

  14:   U-  - -   

      0,05   . 

 1 2 3 4 5 6 7 8 9 10 11 12 13 
X1 3 4 3 5 3 4 5 6 4 4 5 3 4 
X2 3 5 6 4 5 6 5 4 5 6    

 

  15:   -  -   -

      0,01   . 

   ’  
X1 22 32 14 34 23 43 12  
X2 34 35 23 42 42 39 21 17 
X3 12 31 24 38 35 19   
X4 23 45 54 34 48    

 

  16:   2-    -  -

-       f(x1)  f(x2). 

  . 

  ( )   0 1 2 3 4 5 
 f(x1)  ( )  6 33 8 3  
 f(x2)  ( )  1 16 24 7 2 
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  17:      Y = ( )  -

 .   .  . 

 2 8 12 3 1 6 7 10 4 9 11 5 2 
Y 6 5 10 7 3 4 9 8 1 11 12 2 6 

 

  18:        

        Y. 

 1 2 3 4 5 6 7 8 9 10 11 12 13 14 
 0 1 0 0 1 1 0 1 0 0 0 1 1 1 

Y 0 1 1 0 1 0 0 1 0 1 0 1 0 1 
 

  19:       -

 '   K    ( :  –   

     , Y –  , 

  - ).  . 

    (  )  
(  Y)   

 8 4 6 
 12 6 4 

  11 3 1 
 15 6 1 

 

  20:      '    

 Y     rs. 

i 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 
X 2 1 7 12 3 4 11 9 10 5 6 15 8 17 13 14 16 
Y 17 12 5 2 13 16 1 11 4 15 8 3 6 7 9 10 14 

 

  21:      rxy  

 .   . 

 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 
 2 8 12 3 1 6 7 10 4 9 11 5 3 10 9 12 

Y 6 5 10 7 3 4 9 8 1 11 12 2 8 1 2 4 
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  22:     2    

    

8 2 8 12 3 1 6 7 10 4 9 11 5 2 
9 6 5 10 7 3 4 9 8 1 11 12 2 6 
 

  23:     -  -

      X (1 –  , 0 –  

)    Y (  . .)  

 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 
 0 1 0 0 1 1 0 1 0 0 0 1 1 1 0 

Y 0,5 1,2 0,8 1,0 2,0 1,1 1,0 2,1 0,8 0,6 1,2 1,2 1,8 2,0 1,1 
 

  24:   '    X (1 –  , 0 – 

 )      1-   Y (1– -

   , 0 – ). 

 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 
 0 1 0 0 1 1 0 1 0 0 0 1 1 1 0 

Y 1 1 0 1 0 1 1 1 0 1 0 1 1 0 0 
 

  25:      -

    1%      -

      18 . 

     ( ) 
 3 1 2 3 3 2 

 4 5 3 5 4 3 
 6 4 5 6 5 6 

 

  26:     5%   -

        16 ’  ,   

 4  .    . 

  ( )   
( ) 1 ( ) 2 ( ) 

1 ( ) 8,  5,  4,  6 4,  4,  5,  3 
2 ( ) 5,  4,  5,  3 5,  7,  7,  6 
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 1 
 )10( 4

1ina  

i  
n  

1  2  3  4  5  6  7  8  9  10  

3  7071          

4  6872 1677         

5  6646 2413         

6  6431 2806 0875        

7  6233 3031 1401        

8  6052 3164 1743 0561       

9  5888 3244 1976 0947       

10  5739 3291 2141 1224 0399      

11  5601 3315 2260 1429 0695      

12  5475 3325 2347 1586 0922 0303     

13  5359 3325 2412 1707 1099 0539     

14  5251 3318 2460 1802 1240 0727 0240    

15  5150 3306 2495 1878 1353 0880 0433    

16  5056 3290 2521 1939 1447 1005 0593 0196   

17  4968 3237 2540 1988 1524 1109 0725 0359   

18  4886 3253 2553 2027 1587 1197 0837 0496 0173  

19  4808 3232 2561 2059 1641 1271 0932 0612 0303  

20  4734 3211 2565 2085 1686 1334 1013 0711 0422 0140 

21  4634 3185 2578 2119 1736 1399 1092 0804 0530 0263 
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 2 
   W( ) -   

(  -  ) 
  n 

0,01 0,02 0,05 0,10 0,50 n 0,01 0,02 0,05 0,10 0,50 

3 0,737 0,756 0,767 0,789 0,959 27 0,894 0,906 0,923 0,935 0,965 

4 0,687 0,707 0,748 0,792 0,935 28 0,896 0,908 0,924 0,936 0,966 

5 0,686 0,715 0,762 0,806 0,927 29 0,898 0,910 0,926 0,937 0,966 

6 0,713 0,743 0,788 0,826 0,927 30 0,900 0,912 0,927 0,939 0,967 

7 0,730 0,760 0,803 0,838 0,928 31 0,902 0,914 0,929 0,940 0,967 

8 0,749 0,778 0,818 0,851 0,932 32 0,904 0,915 0,930 0,941 0,968 

9 0,764 0,791 0,829 0,859 0,935 33 0,906 0,917 0,931 0,942 0,968 

10 0,781 0,806 0,842 0,869 0,938 34 0,908 0,919 0,933 0,943 0,969 

11 0,792 0,817 0,850 0,876 0,940 35 0,910 0,920 0,934 0,944 0,969 

12 0,805 0,828 0,859 0,883 0,913 36 0,912 0,922 0,935 0,945 0,970 

13 0,814 0,837 0,866 0,889 0,945 37 0,914 0,924 0,936 0,946 0,970 

14 0,825 0,846 0,974 0,895 0,947 38 0,916 0,925 0,938 0,947 0,970 

15 0,835 0,855 0,881 0,901 0,950 39 0,917 0,927 0,939 0,948 0,971 

10 0,844 0,863 0,887 0,906 0,952 40 0,919 0,928 0,940 0,949 0,971 

17 0,851 0,869 0,892 0,910 0,954 41 0,920 0,929 0,941 0,950 0,972 

18 0,858 0,874 0,897 0,914 0,956 42 0,922 0,930 0,942 0,951 0,972 

19 0,863 0,879 0,901 0,917 0,957 43 0,923 0,932 0,943 0,951 0,972 

20 0,868 0,884 0,905 0,920 0,959 44 0,924 0,933 0,944 0,952 0,973 

21 0,873 0,888 0,908 0,923 0,960 45 0,926 0,934 0,945 0,953 0,973 

22 0,878 0,892 0,911 0,926 0,961 46 0,927 0,935 0,945 0,953 0,973 

23 0,881 0,895 0,914 0,928 0,962 47 0,928 0,936 0,946 0,954 0,974 

24 0,884 0,889 0,916 0,930 0,963 48 0,929 0,937 0,947 0,954 0,974 

25 0,888 0,901 0,918 0,931 0,964 49 0,929 0,937 0,947 0,955 0,974 

26 0,891 0,904 0,920 0,933 0,965 50 0,930 0,938 0,947 0,955 0,974 
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 3 
  -     

     
       

     
    

n .20 .15 .10 .05 .01 

1 .900 .925 .950 .975 .995 

2 .684 .726 .776 .842 .929 

3 .565 .597 .642 .708 .828 

4 .494 .525 .564 .624 .733 

5 .446 .474 .510 .565 .669 

6 .410 .436 .470 .521 .618 

7 .381 .405 .438 .486 .577 

8 .358 .381 .411 .457 .543 

9 .339 .360 .388 .432 .514 

10 .322 .342 .368 .410 .490 

11 .307 .326 .352 .391 .468 

12 .295 .313 .338 .375 .450 

13 .284 .302 .325 .361 .433 

14 .274 .292 .314 .349 .418 

15 .266 .283 .304 .338 .404 

16 .258 .274 .295 .328 .392 

17 .250 .266 .286 .318 .381 

18 .244 .259 .278 .309 .371 

19 .237 .252 .272 .301 .363 

20 .231 .246 .264 .294 .356 

25 .210 .220 .240 .270 .320 

30 .190 .200 .220 .240 .290 

35 .180 .190 .210 .230 .270 

> 35 
n
07.1

 
n
14.1

 
n
22.1

 
n
36.1

 
n
63.1
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 4 
  U-  -  

    0,05  0,01 

n1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 
n2 =0,05 
3 - 0                  
4 - 0 1                 
5 0 1 2 4                
6 0 2 3 5 7               
7 0 2 4 6 8 11              
8 1 3 5 8 10 13 15             
9 1 4 6 9 12 15 18 21            
10 1 4 7 11 14 17 20 24 27           
11 1 5 8 12 16 19 23 27 31 34          
12 2 5 9 13 17 21 26 30 34 38 42         
13 2 6 10 15 19 24 28 33 37 42 47 51        
14 3 7 11 16 21 26 31 36 41 46 51 56 61       
15 3 7 12 18 23 28 33 39 44 50 55 61 66 72      
16 3 8 14 19 25 30 36 42 48 54 60 65 71 77 83     
17 3 9 15 20 26 33 39 45 51 57 64 70 77 83 89 96    
18 4 9 16 22 28 35 41 48 55 61 68 75 82 88 95 102 109   
19 4 10 17 23 30 37 44 51 58 65 72 80 87 94 101 109 116 123  
20 4 11 18 25 32 39 47 54 62 69 77 84 92 100 107 115 123 130 138 

=0,01 
5 -  0 1                
6 - - 1 2 3               
7 - 0 1 3 4 6              
8 - 0 2 4 6 7 9             
9 - 1 3 5 7 9 11 14            
10 - 1 3 6 8 11 13 16 19           
11 - 1 4 7 9 12 15 18 22 25          
12 - 2 5 8 11 14 17 21 24 28 31         
13 0 2 5 9 17 16 20 23 27 31 35 39        
14 0 2 6 10 13 17 22 26 30 34 38 43 47       
15 0 3 7 11 15 19 24 28 33 37 42 47 51 56      
16 0 3 7 17 16 21 26 31 36 41 46 51 56 61 66     
17 0 4 8 13 18 23 28 33 38 44 49 55 60 66 71 77    
18 0 4 9 14 19 24 30 36 41 47 53 59 65 70 76 82 88   
19 1 4 9 15 20 26 32 38 44 50 56 63 69 75 82 88 94 101  
20 1 5 10 16 22 28 34 40 47 53 60 67 73 80 87 93 100 107 114 

 



 289

 4.  

n1 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 

n2 =0,05 
21 19 26 34 41 49 57 65 73 81 89 97 105 113 121 130 138 146 154 
22 20 28 36 44 52 60 69 77 85 94 102 111 119 128 136 145 154 162 
23 21 29 37 46 55 63 72 81 90 99 107 116 125 134 143 152 161 170 

24 22 31 39 48 57 66 75 85 94 103 113 122 131 141 150 160 169 179 

25 23 32 41 50 60 69 79 89 98 108 118 128 137 147 157 167 177 187 
26 24 33 43 53 62 72 82 93 103 113 123 133 143 154 164 174 185 195 
27 25 35 45 55 65 75 86 96 107 118 128 139 150 160 171 182 193 203 
28 26 36 47 57 68 79 89 100 111 122 133 144 156 167 178 189 200 212 

29 27 38 48 59 70 82 93 104 116 127 139 150 162 173 185 196 208 220 

30 28 39 50 62 73 85 96 108 120 132 144 156 168 180 192 204 216 228 
31 29 41 52 64 76 88 100 112 124 137 149 161 174 186 199 211 224 236 

32 30 42 54 66 78 91 103 116 129 141 154 167 180 193 206 219 232 245 

33 31 43 56 68 81 94 107 120 133 146 159 173 186 199 213 226 239 253 
34 32 45 58 71 84 97 110 124 137 151 164 178 192 206 219 233 247 261 
35 33 46 59 73 86 100 114 128 142 156 170 184 198 212 226 241 255 269 

=0,01 

21 10 16 22 29 35 42 49 56 63 70 77 84 91 98 105 113 120 127 
22 10 17 23 30 37 45 52 59 66 74 81 89 96 104 111 119 127 134 

23 11 18 25 32 39 47 55 62 70 78 86 94 102 109 117 125 133 141 

24 12 19 26 34 42 49 57 66 74 82 90 98 107 115 123 132 140 149 
25 12 20 27 35 44 52 60 69 77 86 95 103 112 121 130 138 147 156 

26 13 21 29 37 46 54 63 72 81 90 99 108 117 126 136 145 154 163 

27 14 22 30 39 48 57 66 75 85 94 103 113 122 132 142 151 161 171 
28 14 23 32 41 50 59 69 78 88 98 108 118 128 138 148 158 168 178 
29 15 24 33 42 52 62 72 82 92 102 112 123 133 143 154 164 175 185 
30 15 25 34 44 54 64 75 85 95 106 117 127 138 149 160 171 182 192 
31 16 26 36 46 56 67 77 88 99 110 121 132 143 155 166 177 188 200 

32 17 27 37 47 58 69 80 91 103 114 126 137 149 160 172 184 195 207 

33 17 28 38 49 60 72 83 95 106 118 130 142 154 166 178 190 202 214 
34 18 29 40 51 62 74 86 98 110 122 134 147 159 172 184 197 209 222 
35 19 30 41 53 64 77 89 101 114 126 139 152 164 177 190 203 216 229 
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 4.  

n1 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 

n2 =0,05 

21                    
22 171                   
23 180 189                  
24 188 198 207                 

25 197 207 217 227                

26 206 216 226 237 247               
27 214 225 236 247 258 268              

28 223 234 245 257 268 279 291             

29 232 243 255 267 278 290 302 314            
30 240 252 265 277 289 301 313 326 338           

31 249 261 274 287 299 312 325 337 350 363          

32 258 271 284 297 310 323 336 349 362 375 389         
33 266 280 293 307 320 334 347 361 374 388 402 415        
34 275 289 303 317 331 345 359 373 387 401 415 429 443       
35 284 298 312 327 341 356 370 385 399 413 428 442 457 471      

=0,01 

21                    

22 142                   
23 150 158                  

24 154 166 174                 

25 165 174 183 192                
26 173 182 191 201 210               

27 180 190 200 209 219 229              

28 188 198 208 218 229 239 249             
29 196 206 217 227 238 249 259 270            
30 203 214 225 236 247 258 270 281 292           

31 211 223 234 245 257 268 280 291 303 314          

32 219 231 242 254 266 278 290 302 314 326 338         
33 227 239 251 263 276 288 300 313 325 337 350 362        
34 234 247 260 272 285 298 311 323 336 349 362 375 387       

35 242 255 268 281 294 308 321 334 347 360 374 387 400 413      
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  q-    =0,05 

1=n–1 –   , 2 –  . 
1 

2 
1 2 3 4 5 6 7 

2 0,9985 0,9750 0,9392 0,9057 0,8772 0,8534 0,8332 

3 0,9669 0,8709 0,7977 0,7457 0,7071 0,6771 0,6530 

4 0,9065 0,7679 0,6841 0,6287 0,5895 0,5598 0,5365 

5 0,8412 0,6338 0,5981 0,5440 0,5063 0,4783 0,4564 

6 0,7808 0,6161 0,5321 0,4803 0,4447 0,4184 0,3980 

7 0,7271 0,5612 0,4800 0,4307 0,3974 0,3726 0,3535 

8 0,6798 0,5157 0,4377 0,3910 0,3595 0,3362 0,3185 

9 0,6385 0,4775 0,4027 0,3584 0,3286 0,3067 0,2901 

10 0,6020 0,4450 0,3733 0,3311 0,3029 0,2823 0,2666 

12 0,5410 0,3924 0,3624 0,2880 0,2624 0,2439 0,2299 

15 0,4709 0,3346 0,2758 0,2419 0,2195 0,2034 0,1911 

20 0,3894 0,2705 0,2205 0,1921 0,1735 0,1602 0,1501 

24 0,3434 0,2354 0,1907 0,1656 0,1493 0,1374 0,1286 

30 0,2929 0,1980 0,1593 0,1377 0,1237 0,1137 0,1061 

40 0,2370 0,1576 0,1259 0,1082 0,0968 0,0887 0,0827 

60 0,1737 0,1131 0,0895 0,0765 0,0682 0,0623 0,0583 

120 0,0998 0,0632 0,0495 0,0419 0,0371 0,0337 0,0312 

 0,0000 0,0000 0,0000 0,0000 0,0000 0,0000 0,0000 
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 5.  

1 
2 

8 9 10 16 36 144  

2 0,8159 0,8010 0,7880 0,7341 0,6602 0,5813 0,5000 

3 0,6333 0,6167 0,6025 0,5466 0,4748 0,4031 0,3333 

4 0,5175 0,5017 0,4884 0,4366 0,3720 0,3093 0,2500 

5 0,4387 0,4241 0,4118 0,3645 0,3066 0,2013 0,2000 

6 0,3817 0,3682 0,3568 0,3135 0,2612 0,2119 0,1667 

7 0,3384 0,3259 0,3154 0,2756 0,2278 0,1833 0,1429 

8 0,3043 0,2926 0,2829 0,2462 0,2022 0,1616 0,1250 

9 0,2768 0,2659 0,2568 0,2226 0,1820 0,1446 0,1111 

10 0,2541 0,2439 0,2353 0,2032 0,1655 0,1308 0,1000 

12 0,2187 0,2098 0,2020 0,1737 0,1403 0,1100 0,0833 

15 0,1815 0,1736 0,1671 0,1429 0,1144 0,0889 0,0667 

20 0,1422 0,1357 0,1303 0,1108 0,0879 0,0675 0,0500 

24 0,1216 0,1160 0,1113 0,0942 0,0743 0,0567 0,0417 

30 0,1002 0,0958 0,0921 0,0771 0,0604 0,0457 0,0333 

40 0,0780 0,0745 0,0713 0,0595 0,0462 0,0347 0,0250 

60 0,0552 0,0520 0,0497 0,0411 0,0316 0,0234 0,0167 

120 0,0292 0,0279 0,0266 0,0218 0,0165 0,0120 0,0083 

 0,0000 0,0000 0,0000 0,0000 0,0000 0,0000 0,0000 
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  H-  -   

     n1, n2, n3 

      

n1 n2 n3 H p n1 n2 n3 H p n1 n2 n3 H p 

2 1 1 2,7000 0,500

2 2 1 3,6000 0,200

2 2 2 4,5714 0,067

3 1 1 3,2000 0,300

3 2 1 
4,2857

3,8571

0,100 

0,133

4 4 1

6,6667 

6,1667 

4,9667 

4,8667 

4,1667 

4,0667 

0,010 

0,022 

0,048 

0,054 

0,082 

0,102

5 4 1

6,9545 

6,8400 

4,9855 

4,8600 

3,9873 

3,9600

0,008 

0,011 

0,044 

0,056 

0,098 

0,102 

3 2 2 

5,3572

4,7143 

4,5000 

4,4643

0,029 

0,048 

0,067 

0,105

3 3 1 

5,1429 

4,5714 

4,0000

0,043 

0,100 

0,129

4 4 2

7,0364 

6,8727 

5,4545 

5,2364 

4,5545 

4,4455 

0,006 

0,011 

0,046 

0,052 

0,098 

0,103

5 4 2

7,2045 

7,1182 

5,2727 

5,2682 

4,5409 

4,5182

0,009 

0,010 

0,049 

0,050 

0,098 

0,101 

3 3 2 

6,2500 

5,3611 

5,1389 

4,5556 

4,2500

0,011 

0,032 

0,061 

0,100 

0,121

4 4 3

7,1439 

7,1364 

5,5985 

5,5758 

4,5455 

4,4773 

0,010 

0,011 

0,049 

0,051 

0,099 

0,102

5 4 3

7,4449 

7,3949 

5,6564 

5,6308 

4,5487 

4,5231

0,010 

0,011 

0,049 

0,050 

0,099 

0,103 

3 3 3 

7,2000 

6,4889 

5,6889 

5,6000 

5,0667 

4,6222 

0,004 

0,011 

0,029 

0,050 

0,086 

0,100 

4 4 4

7,6538 

7,5385 

5,6923 

5,6538 

4,6539 

4,5001 

0,008 

0,011 

0,049 

0,054 

0,097 

0,104

5 4 4

7,7604 

7,7440

5,6571 

5,6176 

4,6187 

4,5527

0,009' 

0,011 

0,049 

0,050 

0,100 

0,102 
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 6.  
      

n1 n2 n3 H p n1 n2 n3 H p n1 n2 n3 H p 

4 1 1 3,5714 0,200 5 1 1 3,8571 0,143

4 2 1 

4,8214 

4,5000 

4,0179

0,057 

0,076 

0,114 5 2 1

5,2500 

5,0000 

4,4500 

4,2000 

4,0500 

0,036 

0,048 

0,071 

0,095 

0,119

5 5 1

7,3091 

6,8364 

5,1273 

4,9091 

4,1091

4,0364

0,009 

0,011 

0,046 

0,053 

0,086 

0,105 

4 2 2 

6,0000 

5,3333 

5,1250 

4,4583 

4,1667

0,014 

0,033 

0,052 

0,100 

0,105
5 2 2

65333 

6,1333 

5,1600 

5,0400 

4,3733 

4,2933 

0,008 

0,013 

0,034 

0,056 

0,090 

0,122

5 5 2

7,3385 

7,2692 

5,3385 

5,2462 

4,6231 

4,5077

0,010 

0,010 

0,047 

0,051 

0,097 

0,100 4 3 1 

5,8333 

5,2083 

5,0000 

4,0556 

3,8889

0,021 

0,050 

0,057 

0,093 

0,129

5 3 1

6,4000 

4,9600 

4,8711 

4,0178 

3,8400 

0,012 

0,048 

0,052 

0,095 

0,123

5 5 3

7,5780 

7,5429 

5,7055 

5,6264 

4,5451 

4,5363

0,010 

0,010 

0,046 

0,051 

0,100 

0,102 
4 3 2 

6,4444 

6,3000 

5,4444 

5,4000 

4,5111 

4,4444

0,008 

0,011 

0,046 

0,051 

0,098 

0,102
5 3 2

6,9091 

6,8218 

5,2509 

5,1055 

4,6509 

4,4945 

0,009 

0,010 

0,049 

0,052 

0,091 

0,101

5 5 4

7,8229 

7,7914 

5,6657 

5,6429 

4,5229 

4,5200

0,010 

0,010 

0,049 

0,050 

0,099 

0,101 

4 3 3 

6,7455 

6,7091 

5,7909 

5,7273 

4,7091 

4,7000

0,010 

0,013 

0,046 

0,050 

0,092 

0,101

5 3 3

7,0788 

6,9818 

5,6485 

5,5152 

4,5333 

4,4121 

0,009 

0,011 

0,049 

0,051 

0,097 

0,109

5 5 5

8,0000 

7,9800 

5,7800 

5,6600 

4,5600 

4,5000

0,009 

0,010 

0,049 

0,051 

0,100 

0,102 
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  2
r-   

   =3    (2 n 9) 
n=2 n=3 n=4 n=5 

2
r p 2

r p 2
r p 2

r p 
    0 1,000 0,000 1,000 0,0 1,000 0,0 1,000 
    1 0,833 0,667 0,944 0,5 0,931 0,4 0,954 
    3 0,500 2,000 0,528 1,5 0,653 1.2 0,691 
    4 0,167 2,667 0,361 2.0 0,431 1.6 0,522 
  4,667 0,194 3.5 0,273 2,8 0,367 
  6,000 0,028 4,5 0,125 3,6 0,182 
    6,0 0,069 4,8 0,124 
    6,5 0,042 5,2 0,093 
    8,0 0,0046 6.4 0,039 
      7,6 0,024 
      8,4 0,0085 
      10,0 0,00077 
 
 

 7.  
n=6 n=7 n=8 n=9 

2
r p 2

r p 2
r p 2

r p 
0,00 1,000 0,000 1,000 0,00 1,000 0,000 1,000 
0,33 0,956 0,286 0,964 0,25 0,967 0,222 0,971 
1,00 0,740 0,857 0,768 0,75 0,794 0,667 0,814 
1.33 0,570 1,143 0,620 1,00 0,654 0,889 0,865 
2,33 0,430 2,000 0,486 1.75 0,531 1,556 0,569 
3,00 0,252 2,571 0,305 2,25 0,355 2,000 0,398 
4,00 0,184 3.429 0,237 3,00 0,285 2,667 0,328 
4,33 0,142 3,714 0,192 3,25 0,236 2,889 0,278 
5,33 0,072 4,571 0,112 4,00 0,149 3,556 0,187 
6,33 0,052 5,429 0,085 4,75 0,120 4,222 0,154 
7,00 0,029 6.000 0,052 5,25 0,079 4,667 0,107 
8,33 0,012 7,143 0,027 6,25 0,047 5,556 0,069 
9,00 0,0081 7,714 0,021 6,75 0,038 6,000 0,057 
9,33 0,0055 8,000 0,016 7,00 0,030 6,222 0,048 

10,33 0,0017 8,857 0,0084 7,75 0,018 6,889 0,031 
12,00 0,00013 10,286 0,0036 9,00 0,0099 8,000 0,019 

  10,571 0,0027 9,25 0,0080 8,222 0,016 
  11,143 0,0012 9,75 0,0048 8,667 0,010 
  12,286 0,00032 10,75 0,0024 9,556 0,0060 
  14.000 0,000021 12,00 0,0011 10,667 0,0035 
    12,25 0,00086 10,889 0,0029 
    13,00 0,00026 11,556 0,0013 
    14,25 0,000061 12,667 0,00066 
    16,00 0,0000036 13,556 0,00035 
      14,000 0,00020 
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  2
r-   

   =4    (2 n 4) 
n=2 n=3 n=4 

2
r p 2

r p 2
r p 2

r p 

0,0 1,000 0,0 1,000 0,0 1,000 5,7 0,141 

0,6 0,958 0,6 0,958 0,3 0,992 6,0 0,105 

1,2 0,834 1,0 0,910 0,6 0,928 6,3 0,094 

1,8 0,792 1,8 0,727 0,9 0,900 6.6 0,077 

2,4 0,625 2,2 0,608 1,2 0,800 6,9 0,068 

3,0 0,542 2,6 0,524 1,5 0,754 7,2 0,054 

3,6 0,458 3,4 0,446 1,8 0,677 7,5 0,052 

4,2 0,375 3,8 0,342 2,1 0,649 7,8 0,036 

4,8 0,208 4,2 0,300 2,4 0,524 8,1 0,033 

5,4 0,167 5,0 0,207 2,7 0,508 8,4 0,019 

6,0 0,042 5,4 0,175 3,0 0,432 8,7 0,014 

  5,8 0,148 3,3 0,389 9.3 0,012 

  6,6 0,075 3,6 0,355 9,6 0,0069 

  7.0 0,054 3.9 0,324 9.9 0,0062 

  7,4 0,033 4,5 0,242 10,2 0,0027 

  8,2 0,017 4,8 0,200 10,8 0,0016 

  9,0 0,0017 5,1 0,190 11,1 0,00094 

    5,4 0,158 12,0 0,000072 
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  L-   

   3 6    (2 n 12) 
 (  ) n 3 4 5 6  

2 
– 
– 

28 

– 
60 
58 

109 
106 
103 

178 
173 
166 

0,001 
0,01 
0,05 

3 
– 

42 
41 

89 
87 
84 

160 
155 
150 

260 
252 
244 

0,001 
0,01 
0,05 

4 
56 
55 
54 

117 
114 
111 

210 
204 
197 

341 
331 
321 

0,001 
0,01 
0,05 

5 
70 
68 
66 

145 
141 
137 

259 
251 
244 

420 
409 
397 

0,001 
0,01 
0,05 

6 
83 
81 
79 

172 
167 
163 

307 
299 
291 

499 
486 
474 

0,001 
0,01 
0,05 

7 
96 
93 
91 

198 
193 
189 

355 
346 
338 

577 
563 
550 

0,001 
0,01 
0,05 

8 
109 
106 
104 

225 
220 
214 

403 
393 
384 

655 
640 
625 

0,001 
0,01 
0,05 

9 
121 
119 
116 

252 
246 
240 

451 
441 
431 

733 
717 
701 

0,001 
0,01 
0,05 

10 
134 
131 
128 

278 
272 
266 

499 
487 
477 

811 
793 
777 

0,001 
0,01 
0,05 

11 
147 
144 
141 

305 
298 
292 

546 
534 
523 

888 
869 
852 

0,001 
0,01 
0,05 

12 
160 
156 
153 

331 
324 
317 

593 
581 
570 

965 
946 
928 

0,001 
0,01 
0,05 
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